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Question Number : 1 Question Id : 998367919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bougquet is related to flower the same way as necklace is related to:
Options:

1. « pearls
2 w gold

3 % garland

4 = ornaments

Question Number : 1 Question Id : 998367919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEEEdT, T § 3 TR FEOd ¢, 99 ¥R, R, T § wEfaa

Options:

1., v @



Question Number : 2 Question Id : 998367920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option in which the words share the same relationship as that shared by the given pair of words.
Fan : regulator

Options:
1. = Computer : CPU

? % Motorcycle : wheel
3 . Refrigerator : stabilizer

4. » Air-conditioner : compressor

Question Number : 2 Question Id : 998367920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 feT g e o o Ty Al § S oel % Ruoew S A F
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Options:

1, & TR W

2w AIEERS : 9fgar

3. v U : REeER



A x TIT-FERMAT : FFIET

Question Number : 3 Question Id : 998367921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are five designs/figures, two of which are identical. Which two are identical?

Options:
1. « AandE

? % CandE

3. « BandD

4] % BandE

Question Number : 3 Question Id : 998367921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 4 Question Id : 998367922 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Three of the following four letter clusters are similar in a certain way and one is different. Find the one which is
different from the rest.

Options:

1 % NWQT

3 « PIRV

A % BHDF

8

Question Number : 4 Question Id : 998367922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frs = 3R gt 7 ¥ A9 v AfYs v @ gaw € A v fiew B 9w @ T oA

Options:

1. « NWQT




2 % JMKL
3. ¢ PTRV

4. %= BHDF

Question Number : 5 Question Id : 998367923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two rotated positions of the same dice are given below. Which number will be on the face opposite to the face
containing 47

o

Options:

1. = 1

Question Number : 5 Question Id : 998367923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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G

Options:

1, = 1



Question Number : 6 Question Id : 998367924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Five friends Laxman, Muskan. Harish. Kumar and Pikun are dining, each in one of the five hotels - Kent. Pushpak.

Hyatt. Lalit and Marriot.

i. The first letter of the hotel is not the same as the first letter of the person dining.
1. Muskan and Pikun are not dining in Kent.
iii. Harish is not dining in either Pushpak or Kent.
iv. Kumar is not dining in Pushpak.
v. Pikun is not dining in either Lalit or Hyatt.

Where is Kumar dining?
Options:
1. « Hyatt

2 w Lalit

3. ® Marriot

4 % Kent

Question Number : 6 Question Id : 998367924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1, » ¥
2. x ded
3 x Awe
4, x HE

Question Number : 7 Question Id : 998367925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two of the following six numbers are the same?

(A) 83597624 (B) 83597264 (C) 83592764
(D) 83572964 (E) 83592764 (F) 83579264
Options:
1 % AandF

? % BandE



3. « CandE

4 % DandF

Question Number : 7 Question Id : 998367925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e o TEast § ¥ Fi9 o & §AT 272

(A) 83597624 (B) 83597264 (C) 83592764
(D) 83572964 (E) 83592764 (F) 83579264

Options:

1. = AARF

2 % B3RE

3. ¢ C3RE

4. = D3IRF

Question Number : 8 Question Id : 998367926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
There are five pairs of letter clusters, in each of which, the second one is a transformation of the first, in terms of the
arrangement of letters of the first cluster in a particular order. In which two of the following five pairs has the
transformation been done in the same way?

(A) MPWZD - PMDZW (B) IMTZB - MZBIT
(C) DWSMK - WMKSD (D) HKRSP - KHPSR
(E) BGNRT - GRNBT

Options:



1. « BandE

? & AandD

3. % CandE

4 % AandC

Question Number : 8 Question Id : 998367926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BN HHEN & O 2 g, O ¥ 9dF H, TUH §Ag & MW & U A9 FA H ey ¥ dew H
SERT, TS & FAROT g1 e 9= Fet A F A & F FeRor U & 9 ¥ ey aa g7

(A) MPWZD - PMDZW (B) JMTZB - MZBJT
(C) DWSMK - WMKSD (D) HKRSP - KHPSR
(E) BGNRT - GRNBT

. v Bt
2 ¢ ARD
3. x C3RE
4. =« AAHRC

Question Number : 9 Question Id : 998367927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



There are two rows, each containing 3 numbers. Some rules are given below to be used for obtaining the resultant
number for each row separately. Apply the rules for each row from lefi to right and answer the question.

Rules:
i. If an even number is followed by an even number, the first is to be subtracted from the second.
ii. If an odd number is followed by an odd number, both are to be added.
iii. If an odd number is followed by an even number, the even number is to be subiracted from the square of the odd
number.
iv. If an even number is followed by an odd number, the odd number is to be subtracted from the even number.

Rowl: 9, 11, 34
RowlIl: 16. 9, 8

What is the difference between the resultant numbers of the first row and the second row?

Options:
1. = 37

Z'J 27

3. = 55

4 = 19

Question Number : 9 Question Id : 998367927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 37
2. v 27
3 % 55
4. % 19

Question Number : 10 Question Id : 998367928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of four with at least two girls is to be selected from four boys P. Q, R and S and four girls T, U, V and W,
meeting the following conditions:

i. R and U must be put together.
iV V cannot go with P.
iii, W and Q must be put together.
iv. S cannot be put up with T.

Which of the following can be selected as a team?
Options:
1. = 5. V.PLW

2 & RUQP

3. & TRSYV

4 R:W,Q:U

Question Number : 10 Question Id : 998367928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 998367929 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are there in the following figure?

e

Options:
1. w I7

2 % 19

Question Number : 11 Question Id : 998367929 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

o e & fFaa Peger 22
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Options:

1. = 17
2 = 19
3. v 21
4. = 23

Question Number : 12 Question Id : 998367930 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Five addresses are given below. Which two of the addresses are exactly same?

1. Mr. K. Raghuramiaya, K-379, Guntakalpkam. Fortbridge Street, Telampuram — 375 612
. Mr. K. Raghuramaiya, K-379, Guntakalpkam, Fortbridge Street, Telampuram — 375 612
. Mr. K. Raghuramiaya. K-379, Guntaklapkam. Fortbridge Street. Talempuram — 375 612
. Mr. K. Raghuramaiya, K-379, Guntakalpkam, Fortbridge Street, Telampuram — 375 612

. Mr. K. Raghuramaiya, K-379, Guntakalpakam. Fortbridge Street. Talempuram — 375 612
Options:
1. = 1and5

I-2

oW

LA

? « 2and4

3 % 3and>s

4 % land4

Question Number : 12 Question Id : 998367930 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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1.Mr. K. Raghuramiaya, K-379, Guntakalpkam, Fortbridge Street, Telampuram - 375 612
2.Mr. K. Raghuramaiya, K-379, Guntakalpkam, Fortbridge Sireet, Telampuram - 375 612
3.Mr. K. Raghuramiaya, K-379, Guntaklapkam, Fortbridge Street, Talempuram - 375 612
4 Mr. K. Raghuramaiya, K-379, Guntakalpkam, Fortbridge Street, Telampuram - 375 612
5. Mr. K. Raghuramaiya, K-379, Guntakalpakam, Fortbridge Street, Talempuram - 375 612
Options:

1. = 13R5

2 v 23R4

3 % 33R5

4. = 1374

Question Number : 13 Question Id : 998367931 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following number sequence. how many times is an odd number immediately followed by an even number?

53847965392782145638265867
Options:

1. 10

b4



#®
-1

4.

Question Number : 13 Question Id : 998367931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o ww=r A, fFae IR ve Rvn gEwn, w6 9= F i 91 A1 22

b38479653927821456638265867

Options:

1. = 10

2. % '9

Question Number : 14 Question Id : 998367932 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following number sequence, how many times is an even number immediately followed by an even number, but
NOT immediately preceded by an even number?

53847965302782145638265867
Options:



4 = 6

Question Number : 14 Question Id : 998367932 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e @Em &7 &, fae aR Uk TH WE, UF §H TE & 91d 91 7% ¢, feq 36% 8% T U

53847965392782145638265887

Options:
1. = 3
2. v 4

Question Number : 15 Question Id : 998367933 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In a family of seven persons with two married couples, M is the brother of N and cousin of R. P and Q) are brothers. N is
the niece of 8§ and T is the aunt of R. How is T related to M?

Options:
1. «+ Mother

2w Sister

3w Aunt



4 % Grandmother

Question Number : 15 Question Id : 998367933 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

gr Taarfed Sl & @1y W9 &6 &% UH IRER H M, N &7 41E HT R #7 == 412 g P 3T Q 6% §
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Options:

1. v @
2 w 9gd
3. % =Y

Question Number : 16 Question Id : 998367934 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams correctly represents the relationships among the following classes?

Hardworking persons. Indians. tall men

Options:



2, ®
3. v %
i C@

Question Number : 16 Question Id : 998367934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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aisEr sufda, SRAT, #9 9w

Options:



D
a}

Question Number : 17 Question Id : 998367935 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Krishna gave éth of his savings to his son, %th of the remaining to his first daughter and the rest to his second
daughter. If the first daughter got ¥ 8800 more than the second one, how much did the son get?

Options:
1. ¢« 2200

2 = T2275

i

3. % T2000

1

A % T2450



Question Number : 17 Question Id : 998367935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wﬁmﬁrmmga&mmﬁgﬁﬁﬁm a‘rsra:ri AT 3T a3 T F, AR AT ST A
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Options:

1. v T 2200
2. & T22Y8
3. x T2000
4 % T 2450

Question Number : 18 Question Id : 998367936 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the following four figures are alike in some ways. and one is different. Find the odd one.

Options:



Question Number : 18 Question Id : 998367936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T IX 7 ¥ 99 =T 5 9fg gaa § 3R vF e 81 3999 #1799 #:)

Options:

B



Question Number : 19 Question Id : 998367937 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that can replace the question mark (?) in the following series:
08.94. 85, 2. 44

Options:

1. = 73

2“; 69

67

-
%

Question Number : 19 Question Id : 998367937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e gen & e feg (7) @ sforfa & g aer g g9
08, 94, 85, ?, 44

Options:
T. = 73
2. v 69



Question Number : 20 Question Id : 998367938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that can replace the question mark (?) in the following series:
3,7.16,35,7, 153
Options:

1. 69

#

&4

-2
#

Question Number : 20 Question Id : 998367938 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e sp@en # wea e (?) & 9farnfa & gea el e 949
& 418, a3 Y 183

Options:

1. = 69
2 = 84
3 = 73



General Awareness
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Group Id: 9983678

Group Maximum Duration : 0
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Show Attended Group? : No
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Group Marks: 20
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General Awareness

Section Id : 99836714
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Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
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Sub-Section Number: 1
Sub-Section 1d: 99836744
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 998367939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For which of the following activities would one require a binocular?
Options:
1. » Angling

? . Omithology

3 x Parasailing



4. » Bungee Jumping

Question Number : 21 Question Id : 998367939 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fom & & frw afafefr & fow st &= #r smEegwar gefe?

Options:

1. % Uarferer

o e (s B

Question Number : 22 Question Id : 998367940 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The ‘Belt and Road Initiative’ (also referred to as *One Belt, One Road’) is a based project. The initiative plans
to recreate the old Silk Route.

Options:
1. = Japan

? % South Korea

3. # Kazakhstan

Question Number : 22 Question Id : 998367940 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. = 9

3.« HANEEA

Question Number : 23 Question Id : 998367941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Treaty of Wadgaon (1779) was signed between the and the British.
Options:
1. + Marathas

2 w Rajputs

3. ®& Nawabs of Awadh

4. » Gajapatis

Question Number : 23 Question Id : 998367941 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

g=ITH H 8 (1779) 3R 3RS & d graEiE g8

Options:



3 % HIY & FdOE

Question Number : 24 Question Id : 998367942 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Name the eminent jurist and lawyer who wrote the well-known ftreatise ‘Commentary on the Constitution of India’. He
was awarded the Padma Bhushan by the government of India in 1985.

Options:

1. = Fali S Nariman

7 o Durga Das Basu

3 » Nanaboy Ardeshir Palkhivala

A % Ram Jethmalani

Question Number : 24 Question Id : 998367942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = el TH A4AA
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Question Number : 25 Question Id : 998367943 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the original name of the Rashtrapati Bhavan when its construction was completed in the 1910s?
Options:
1. » Regal House

7 o Viceroy’s House

3. # Circuit House

4 % Chamber House

Question Number : 25 Question Id : 998367943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1910 % ZF H [CEI 89 1 HAT T A & TAF FHH o AH T AT?
Options:

1.« I°Tar g38

2 o FTIET g4
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Question Number : 26 Question Id : 998367944 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following is a British professional tennis player from Scotland?
Options:
1. % Jimmy Connors

? % Arthur Ashe

3 » Andy Murray

4 % Boris Becker

Question Number : 26 Question Id : 998367944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ FiF, =i ¥ fFfeyr 99=t 25w Eengr 22

Options:

1. » o #=9

2 % AT O

3, v @M



Question Number : 27 Question Id : 998367945 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

“Tirinjen’ 1s a form of organised entertainment wherein young girls spin wheels (Charkha) and sing songs. In which
state 1s this practiced?

Options:
1. » Gujarat

2 % Rajasthan

3 . Punjab

4] % Odisha

Question Number : 27 Question Id : 998367945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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& = & vafea &2

Options:



Question Number : 28 Question Id : 998367946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The 88-storey twin-tower structure called Petronas Towers is located in the city of:
Options:

1. » Riyadh

? % Dubai

3 x Chicago

4. » Kuala Lumpur

Question Number : 28 Question Id : 998367946 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1_%1:3\'513'

S

A
"

Question Number : 29 Question Id : 998367947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of mutual funds and investments what does the acronym ELSS stand for?

Options:



1. « Equity-Linked Savings Schemes
2 Earnings-Linked Savings Schemes
3 Enterprise Life Support Schemes

4. » Earnings-Linked Support Systems

Question Number : 29 Question Id : 998367947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgg3a B3 AR At & west F svawaew (ELSS) # FAT 3 g 82

Options:

1, st dtw =B

2 = Hea-Toas afdsw =

3w UEHSS SEE HUIE FhIA

4. » FAe-TEE gue =Fe

Question Number : 30 Question Id : 998367948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which area of Physics is the famous ‘Raman Effect’. a phenomenon discovered by Nobel laureate CV Raman.
applicable?

Options:

1. # Atomic fusion



? . Scattering of light

Study of gravitation

3.

b

A % Existence of universe

Question Number : 30 Question Id : 998367948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. %= HANOSE T

2w FETU F TR

3 Thcd bl IFEUIA

4.« FEATS F HEdcT

Question Number : 31 Question Id : 998367949 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In research methodology. respondents bring in a bias into the research because he/she is in agreement with all questions
within the survey. What is this type of bias called?

Options:

1. ®# Measurement bias

2 lgnorance bias



3. % Dissent bias

/. » Acquiescence bias

Question Number : 31 Question Id : 998367949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ay A &, FE810T F GHEET WA § FEAD 819 & FHROT Scaleld, HJHuTd H Tk THR H
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Options:

1. « HAYA 9&9d

2y Hagesl JaTITd

3« HEEAT 9Ea

A. » TEATT T8I

Question Number : 32 Question Id : 998367950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarters of the Southern Naval Command of the Indian Navy?
Options:

1. # Trivandrum

? % Chennai

3. ¢ Kochi



4. % Mangalore

Question Number : 32 Question Id : 998367950 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AVAT F ST AT FAF F JEAET FE U §7?

Options:

3. ¢ SHi=A

Question Number : 33 Question Id : 998367951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When is International Day for the Preservation of the Ozone Layer observed every year?
Options:
1. » 10™ October

) & 16™ September

3. % 19 November

4. » 12®December

Question Number : 33 Question Id : 998367951 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Yok IY ST TWa HEUT §g Hased fGEw Fu A\ S g2
Options:
: 10 3

2 » 16 TS

3. x 19 798X

4 « 12 feEsx

Question Number : 34 Question Id : 998367952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ashraf Ghani is the current president of:
Options:
1. » Turkey

? w Azerbaijan

3. & Iran

4. . Afghanistan

Question Number : 34 Question Id : 998367952 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IE U, @F F a9A T Teeafy &

Options:




3_&%*11?

s AFIEATA

=

Question Number : 35 Question Id : 998367953 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Constitution of India contains the procedure for the election of the vice-president of India?
Options:
1. v Article 66

? ® Article 56
3w Article 46

A = Article 36

Question Number : 35 Question Id : 998367953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SRAT TEUE % B 3eEoe § oRT & IRrena & e i wikar & o 27

Options:

3@%366

1. ¢



2, « FTOE 56

3 HTTIJWxﬂ-G

4, » HTHE 36

Question Number : 36 Question Id : 998367954 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

As of May 2019, Germany has reached the finals of the Football World Cup times.
Options:
1.+ 8

%
B
N

Question Number : 36 Question Id : 998367954 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AS 2019 TF F AR, FAHeA Geald @93 FI & Bead H SR 9 7§
Options:
1. v 8



Question Number : 37 Question Id : 998367955 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Which one of the following is the most ancient style of Hindustani classical music?
Options:

1. » Khyal
? . Dhrupad
3.« Tappa

4 % Thumri

Question Number : 37 Question Id : 998367955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 ¥ i, fgeaet aeiT w=ia & 598 g S 27

Options:
1. =« TOA
8. & e



Question Number : 38 Question Id : 998367956 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

[tanagar is the capital of
Options:
1. ¥ Arunachal Pradesh

? w Tripura

3 x Telangana

4 = Odisha

Question Number : 38 Question Id : 998367956 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ST & [T B

Options:

1. » HTUTEE 9Sor

Question Number : 39 Question Id : 998367957 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
‘SAMYUKTA' is an electronic warfare system developed in India by:

Options:
1. » HAL and Indian Army

? % BITS and Indian Army
3  DRDO and Indian Army

4. » C-DAC and Indian Army

Question Number : 39 Question Id : 998367957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIFT TF SoEleH gEF WUl ¢ o 9Rd # e g Refeg T e g
Options:

1. = HAL 3R sIRdr 3=

2 % BITS 3R sRdT &=

3. » DRDO 3R $IRd Far

4. % C-DAC 3R sidrg &=

Question Number : 40 Question Id : 998367958 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

C-DAC (Centre for Development of Advanced Computing) is a research organisation in India which works under the
ministry of:

Options:



1. » Information and Broadcasting
2 . Electronics and Information Technology

3 Statistics and Program Implementation

A = Civil Aviation

Question Number : 40 Question Id : 998367958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

C-DAC (J9Td H9T0Te faehH &%) SINd H Tk FFEUH §II6a § A1 o1 AFed & el F HL &
Options:
1 u AT TS FHROT

5 Sl A T Sl

3. « WIS T FOFH Shawaas

4. x TEINE TSI

Arithmetic Ability

Group Number : 3

Group Id: 9983679

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20



Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability
Section Id : 99836715
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836745
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 998367959 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

If124+224+3%2+ +102+ 112+ 122 =650, then2+ 8+ 18+ + 200 + 242 + 288 is equal to:
Options:
1. ¢ 1300

2 % 1200

3. % 2600

Question Number : 41 Question Id : 998367959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfg 17 +22+37+ +10%2+112+122 =650, @1 2+8+18+ + 200+ 242+ 288 TF &F =T
ZIem:

Options:



1. « 1300

2 » 1200
3. % 2600
4. = 2200

Question Number : 42 Question Id : 998367960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be value of aifa(@a+b +¢c)?2 =1792;b(a+ b+ ¢)? = 1536;c(a+ b+ c)? = 7687
Options:

1.

16

&

Question Number : 42 Question Id : 998367960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I ala+ b+ )2 =1792;b(a+ b+ )2 =1536;c(a+ b+ )2 =768 & o a =T AT FAT EE7?
Options:

1. = 16



Question Number : 43 Question Id : 998367961 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve the following:

2.53 +1.046 ~0.49 =2
Options:

1. = 4.051

2.« 4.081

3 % 3.081

4. % 5.051

Question Number : 43 Question Id : 998367961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF T = g9 L
2.53+1.046 + 049 = ?
Options:

1. = 4.051



2. ¢ 4081

3. % 3.081

4. = 5.051

Question Number : 44 Question Id : 998367962 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

On being asked whatg of a certain fraction was. a student made the mistake of dividing the fraction by? and so got an

2 i g
answer that exceeded the correct answer by = The fraction is:

Options:

J

18
T
3.% 5

12

4,#’ 13

Question Number : 44 Question Id : 998367962 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

wqﬁmﬁwﬁﬁ?ﬁﬁﬁwﬁqﬁmgwgﬁmwmﬁmﬁﬁ#ﬁaﬁgﬂﬁﬂﬁmm
far ik omEEET 3@ S 3eaw Fer A WE se § 2 30w wmi e g

Options:

1, = 1



18

12

Question Number : 45 Question Id : 998367963 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

= R ; ;i B T
The product of two fractions is = and their quotient is = The greatest fraction is:
=&

Options:

1.+

(%]

L

i‘e

u,lz | e USRS |

| o

Question Number : 45 Question Id : 998367963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aﬁfﬂﬁﬁmwg HIT 3AFT HAETHA E%‘lﬁﬁﬁﬁé’rﬁ#ﬁ'ﬁ?ﬁ:

Options:

1. ¢

Fi
3



| g

N
g:‘

o |5

w | m

Question Number : 46 Question Id : 998367964 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Five bells ring together at intervals of 5, 6, 8. 9 and 10 seconds. All the bells begin ringing simultaneously. They will
again ring simultaneously after:

Options:

1. «+ 6 minutes

? # 9 minutes

3. % 8 minutes

4 % 5 minutes

Question Number : 46 Question Id : 998367964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 ufear 5, 6, 8, 9 3N 10 FFs & HAUST W TF HY Ioicr g1 Fef GfEAT T Ty a1 % & el
T 3T ST ¥ UF T & g9

Options:

1. v 6 e =g

2 « 9 fAse g



3 x 8 FA=e g

4. » b @Ase g

Question Number : 47 Question Id : 998367965 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In an examination the number of those who passed and the number of those who failed was in the ratio 25 : 4. If one
more student had appeared for the exam and the number of failures was 3 less than earlier, the ratio of passers to failures
becomes 22 : 3. The total number of students who appeared initially in the examination was:

Options:
1. & 175

2. v 174

3 % 173

A = 180

i

Question Number : 47 Question Id : 998367965 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

U SUBT H SccllvT Bl JTel T BEAT AR AT Bl arell $f BEAr 25:4 % 39 A off| 3w IfE o
3R o oleT ¥ Be 39y @ § Fur 3ot @ arer $ g g # 3 FH @ S ¢, 78
T 22:3 &1 AT g1 WA H T H 39eUd g arel ol H HEA AT B

Options:

1. = 175

2.« 14



3 ® 179

4. » 180

Question Number : 48 Question Id : 998367966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 75% of A is 50% of B and B is x% of A, then the value of x is:
Options:
1. = 180

2 % 100

3 v 150

A. % 200

8

Question Number : 48 Question Id : 998367966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Te A & 75% B Fr 50% & T B, A FT x% g, ar x &7 AT g

Options:

1. = 180

2 % 100

3. « 150



4. = 200

Question Number : 49 Question Id : 998367967 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A number is increased by 20% and then decreased by 20%. It was further increased by 25% and then decreased by 25%.
‘What is the net increase/decrease percent in the number?

Options:

1. # 20% increase

W
=

? % 20% decrease

3. # 10% increase

4« 10% decrease

Question Number : 49 Question Id : 998367967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foreT FEar &F 9ger 20% Fr iy v 71F ik M 20% Fr FAr & T W A 25% e T FHT
T 25% wer faar aam wewr # o= gfE / w4 wfaee e w2

Options:

1 % 20% TR

2 % 20% FHEY

3 & 10% I

4. v 10% F#r



Question Number : 50 Question Id : 998367968 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The average age of 30 students of a class is 15 years. After the admission of five new students to the class the average
becomes 14 years. The eldest of the five new students is 12 years old. The average age (in years) of the remaining four
new students is:

Options:

1.« 7

Question Number : 50 Question Id : 998367968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vE FETT % 30 oI #7 AT Hg 15 I §| FEN A I AT OE1 & YU & q¢ IE AAd 14 9 &
ST §l 9 AT o A G T3 °/F 12 § & g) 99 9% A¢ o # AT g (Fut #7) e

Options:

T, & 7

2. » 8

Question Number : 51 Question Id : 998367969 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A loss of 25% is incurred when five articles are sold for ¥ 1 each. To gain 25%, how many articles must be sold for ¥ 1?2

Options:



Question Number : 51 Question Id : 998367969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S 9T FEGIHT F 31 o TG H a F 9= S0 § A 25% g g F1 26% F A qrod A
¥ fow 21 & forael avqu a=h sehr =nfge?

Options:
1. = 5
2. v 3

Question Number : 52 Question Id : 998367970 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A company offers three types of successive discounts to a customer:

I 25% and 15%
Ll 30% and 10%
1.  35% and 5%

Which offer is the best for a customer?
Options:



4. » Alldiscounts are equal

Question Number : 52 Question Id : 998367970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF FIAT AMEH H TF & dG T O TR H BT FaF Far g
. 25% 3T 15%

Il. 30% 3T 10%
1. 35% 3T 5%

AEF & O FaH 3¥=oT 3THT HiT &7 e

Options:

3. »

&,

Question Number : 53 Question Id : 998367971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If a discount of 25% on the marked price of a shirt saves a man ¥ 150, then how much did he pay (in ) for the shirt?
Options:

1. + 450

3. % 480

4. % 600

Question Number : 53 Question Id : 998367971 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE o i Rgaa Fa W 25% T g & F TF IJEHAT F T 150 F F9F e ¢, A 38 4T F
o fraett FrAa &1 (X #) A= e

Options:
1. « 450
5 & 75D
3« 480
4 % 600

Question Number : 54 Question Id : 998367972 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of T 20,000 is lent partly at 8% and the remaining is lent at 10% per annum. If the vearly interest on the average
is 9.5% then the sum (in I) which is lent at 10% is:

Options:



1. « 5000

9w 10,000

3 15.000

20,000

-
%

Question Number : 54 Question Id : 998367972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

720,000 Fr T F v BET Fr 8% 9 3T 99 ¥ 10% v € $r =or7 T ¥ 39 B =mar B
afe sitaas greeT sa @7 9.5% & & 10% &7 g7 9¥ 3ur & 95 ufEr € #) e et

Options:

1. = 5000
2 % 10,000
3 o 15,000
4 % 20,000

Question Number : 55 Question Id : 998367973 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Radha has the option of investing in one of the following three schemes. If she wants to invest an amount of ¥ . then
which scheme will be most beneficial?

A scheme with a rate of interest that is:

I. 24% per annum compounded guarterly for one year.

II. 20.32% per annum compounded half vearly for one year.
III. 20.32% per annum compounded annually for one year.

Options:



/. » Allschemes are equally beneficial

Question Number : 55 Question Id : 998367973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T &F g FEfeag 9 OioanEt § ¥ Ut § 79 F & G597 g1 Ig 98,3 P F1 FEy =
T ¥, @ 3% R Fia O deer we 3w s @ete

A TS F T s g3 3R ot & Jny e §
. 24% WA =TS, T Y & e, &% fAeer W mwaie w9 @ o)

Il. 20.32% WA &4, U a9 & AT, &7 SHAE W IHgfe ¥7 § 0|
lIl. 20.32% HTem=T &0, T A% & forT, &Y ¥ I%gfe &9 ¥ ol

Options:

1. » |

4« T DFAT FAS T T TEEA

Question Number : 56 Question Id : 998367974 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



The area of a square and rectangle are equal. The length of the rectangle is greater than the length of any side of the
square by 4 cm and the breadth is less by 2 cm. The perimeter (in cm) of the rectangle is:

Options:

1. = 1

LA

2.v 20

10

-
%

16

e
%

Question Number : 56 Question Id : 998367974 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T AR FTF FT AT qUET g1 HIS $T FATS 9 H AT o o= F¥ 7O F 4 om JOF ¥
3T =i 2 cm FA §1 s3mmg & 9 (em #) e

Options:

1. » 15
2. v 20
3 = 10
4. = 16

Question Number : 57 Question Id : 998367975 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Arina can do a piece of work in 30 days. Binoy can do the same work in 40 days. If they worked together for 5 days.
then how much work would be left?

Options:



17

L2
b
Ba
b

11
24

oo
¢

i3
24

i
8

Question Number : 57 Question Id : 998367975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3rzoT R T @ 30 R F 9u # wear 21 Ferw 3@ 1 40 A & < o 71 A ¥ @
HeeT 5 Tt aF #17 Fa § O 319 7 g w17 s | Seem?

Options:
17
1. & 24
7

11

13

Question Number : 58 Question Id : 998367976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 3 men or 4 women can plough a field in 86 days. then how long will 7 men and 5 women take to plough it?

Options:



1. » 12 days

2 @ 24days

3 x 80days

4. = 43days

Question Number : 58 Question Id : 998367976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofE 3 = 1 4 AT Haw TF T F Fa5 86 A H F W g, d 7 ¥ AR 5 Afgensd v
50 FIH # Ghaar gEg FE@eE?

Options:

1, » 12 R

2 v 24 %=

3. % 80 fea

4« 43 %

Question Number : 59 Question Id : 998367977 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A train passes two bridges of length 600 m and 325 m in 110 seconds and 60 seconds. respectively. The length of the
train is:

Options:

l.v 5m



10m

-2
&

o
®
Lh
=
=

Question Number : 59 Question Id : 998367977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE & 110 ¥&s 3R 60 ¥Fs # HAT: 600 m AR 3256 m & & ol & IR & a4 & & F TR
5

Options:

1. v 5m
2 % 10m
3. 0% 125 m
4 = 50 m

Question Number : 60 Question Id : 998367978 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table and answer the question that follows.

Day 2nd 1st ACIII |ACI AC lst Class
Class Class | Tier Tier (150 seats)
Non-AC |Non- |[(500 |(250
{900 AC seats) | seats)
seats ) (500
seats)
Monday 850 460 480 240 145
Tuesday 340 400 450 230 120
Wednesday | 830 390 480 220 130
Thursday 790 480 490 250 125
Friday 840 470 500 210 130

If the data related to the vacant seats for AC Ist class is represented by a pie-chart. then the central angle of the sector
representing vacant seats for AC Ist class for Tuesday is:

Options:
1. v 108°

7 % 316°

w g T

4 = 148°

Question Number : 60 Question Id : 998367978 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



FUFT dTfereRT & 3TUR 9T A= BT 91T 997 &7 3aa7 &

&= CAECIE o dr-fr | | T wuR

Aot AT | Aoft AT | TEY TH Aofr

THr T (500 (250 (150 #rd)

(900 #rE) | (500 ) )

re)

AFHIT | 850 480 480 240 145
AITFAT | 840 400 450 230 120
qUa 830 390 480 220 130
TEER | 790 480 490 250 125
YFAT | 840 470 500 210 130

Ife word Avfr vl =7 & v g @t o g9 2T & o
T AT ST Jrar g, & #ereE F BT gum Sofr v g9
F fore g et &1 iRt s aer 89 &7 &5 Fior

(FgeT TaTer) B
Options:
1. » log°
2 % 316°
3 = 172°
4« 148°
General English
Group Number : 4
Group Id : 99836710
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General English
Section Id : 99836716
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836746
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 998367979 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the one that means the same as the underlined idiom:

When pigs fly. Priti will start studying everyday.
Options:
1. » When pig will start flying.

? % Something that always happen.

I, Something that will never happen.

Something very easy to do.

4.

&

Question Number : 61 Question Id : 998367979 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



From the options given below choose the one that means the same as the underlined idiom:

When pigs fly, Priti will start studying everyday.
Options:
1. » When pig will start flying.

2 % Something that always happen.

3. Something that will never happen.

4.« Something very easy to do.

Question Number : 62 Question Id : 998367980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
From the options given below choose the one that means the same as the below word:

“Algophobia™
Options:
1. = Anextreme fear of height.

? . Aphobia of pain.

3 Fear of being alone.

4 % Fear of water.

Question Number : 62 Question Id : 998367980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the options given below choose the one that means the same as the below word:

“Algophobia™
Options:
1. » Anextreme fear of height.

2  Aphobia of pain.

3 Fear of being alone.

4. w Fear of water,

Question Number : 63 Question Id : 998367981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
From the options given below choose the correct form of adjective to fill in the blank:

This book 1s than that one.
Options:
1. % mostcostly

? « costlier

3. % costliest

4. » much costly

Question Number : 63 Question Id : 998367981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the options given below choose the correct form of adjective to fill in the blank:

This book is than that one.
Options:

1. % mostcostly

7« costlier

3w costliest

J. % much costly

Question Number : 64 Question Id : 998367982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
From the options given below choose the correct pair of preposition which will fill the blanks respectively:

active ingredients of commonly-used sunscreens end up in the bloodstream at much higher levels , according to
a study by United States Food and Drug Administration researchers.

Options:
1. « The.the

2' % H.Ilffhe

3, % An.an

4 = An.a

Question Number : 64 Question Id : 998367982 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



From the options given below choose the correct pair of preposition which will fill the blanks respectively:

active ingredients of commonly-used sunsecreens end up in the bloodstream at much higher levels, according to a

study by United States Food and Drug Administration researchers.
Options:

1. « The, the

2 x Anthe

3w Anan

4. » Ana

Question Number : 65 Question Id : 998367983 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
From the options given below choose the correct pair of preposition which will fill the blanks respectively:

Heis European but his wife is Indian.
Options:
1. = The. an

2. 5% A, the

3 x An the

4, » Ajan

Question Number : 65 Question Id : 998367983 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



From the options given below choose the correct pair of preposition which will fill the blanks respectively:

He is European but his wife is Indian.
Options:

1. = The. an

2_ w AL the
3_ % An the
4, » 28

Question Number : 66 Question Id : 998367984 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the correct pair of preposition which will fill the blanks respectively:

A creative engineer named John Roebling was inspired an idea to build a spectacular bridge connecting New
York the Long Island.

Options:
1. « by. with

7 % from . into

3 % on.to

/. % upon, along

Question Number : 66 Question Id : 998367984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the options given below choose the correct pair of preposition which will fill the blanks respectively:

A creative engineer named John Roebling was inspired an idea to build a spectacular bridge connecting New
York the Long Island.
Options:

1. « by with

2 % from. into

3_ % onto

. % upon, along

Question Number : 67 Question Id : 998367985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the one that has used the proper conjunction.
Options:

1. =

The Brooklyn Bridge is one of the oldest suspension bridges in the United States who connects the New York and
Brooklyn.

2. %
It was the longest suspension bridge in the world . from its opening until 1903. since the first steel wire suspension
bridge.

3. v

While conducting surveys for the bridge project. Roebling sustained a crush injury to his foot when a ferry pinned it
against a piling.

4. %

After the amputation of his crushed toes. he developed a tetanus infection and left him incapacitated and soon resulted
in his death.



Question Number : 67 Question Id : 998367985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the one that has used the proper conjunction.

Options:

1. =

The Brooklyn Bridge is one of the oldest suspension bridges in the United States who connects the New York and
Brooklyn.

2. =

It was the longest suspension bridge in the world. from its opening until 1903, since the first steel wire suspension
bridge.

3. ¥

While conducting surveys for the bridge project, Roebling sustained a crush injury to his foot when a ferry pinned it
against a piling.

4, =

After the amputation of his crushed toes. he developed a tetanus infection and left him incapacitated and soon resulted
in his death.

Question Number : 68 Question Id : 998367986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the correct pronoun to fill the blank.

I hate talking too much.
Options:
1. # him

2' « his

3w its



4 % himself

Question Number : 68 Question Id : 998367986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the correct pronoun to fill the blank.

I hate talking too much.

Options:

1. % him

7. « his

3w its

4. % himself

Question Number : 69 Question Id : 998367987 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the part that has an error:

Papermaking is / considered to be / one of the / Four Great Invention of ancient China.
(A) (B) (© D)

Options:

1. A



4.« D

Question Number : 69 Question Id : 998367987 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the part that has an error:

Papermaking is / considered to be / one of the / Four Great Invention of ancient China.

(A) (B) (©) (D)
Options:

1. = A

? = B

Question Number : 70 Question Id : 998367988 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
From the options given below choose the part that has an error:

A sheet of paper created / by CaiLun, / an official, who was attached to the Imperial Court / during the Hun Dynasty.
(A) (B) (€ (D)

Options:
1.« A



4 = D

Question Number : 70 Question Id : 998367988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the part that has an error:

A sheet of paper created / by CaiLun, / an official, who was attached to the Imperial Court / during the Hun Dynasty.

(A) (B) (© (D)

Options:

1. v A

2. » B

Question Number : 71 Question Id : 998367989 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the part that has an error:

Mulberry and other fibers / along with fishnets. / old rags, and hemp waste / is used to make paper.
(A) (B) (©) (D)

Options:

1.= A



4.« D

Question Number : 71 Question Id : 998367989 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the part that has an error:

Mulberry and other fibers / along with fishnets. / old rags. and hemp waste / is used to make paper.
(A) (B) (© (D)
Options:

1. = A

Question Number : 72 Question Id : 998367990 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose one that forms a correct sentence:
Options:

1. =

Varun a tall. lean fellow who was about twenty, when I approached him was watching a wrestling match.

2.

Varun who was about twenty. a tall, lean fellow was watching a wrestling match when I approached him.

3. =

Varun who was about twenty. a tall, lean fellow when I was watching a wrestling match approached him.



4, %

Varun who was watching a wrestling match was about twenty when I approached him. a tall. lean fellow.

Question Number : 72 Question Id : 998367990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose one that forms a correct sentence:

Options:
1. =

Varun a tall, lean fellow who was about twenty, when I approached him was watching a wrestling match.

2. ¢

Varun who was about twenty, a tall, lean fellow was watching a wrestling match when I approached him.

3. =

Varun who was about twenty, a tall, lean fellow when I was watching a wrestling match approached him.

4., =

Varun who was watching a wrestling match was about twenty when I approached him. a tall, lean fellow.

Question Number : 73 Question Id : 998367991 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose one that is the correct synonym of the underlined word:

"Adieu. Clara," said he gently to his sister. taking her by the hand before leaving the room with rapid steps.
Options:
1. ®# Hello

2 w Greetings



3 x GoodDay

4 « Farewell

Question Number : 73 Question Id : 998367991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose one that is the correct synonym of the underlined word:

"Adieu. Clara," said he gently to his sister. taking her by the hand before leaving the room with rapid steps.

Options:

1. = Hello

2 u Greetings

3. % Good Day

4.  Farewell

Question Number : 74 Question Id : 998367992 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose one that is NOT the correct synonym of the underlined word:

Most of the people in India still believe in sorcery.

Options:
1. « Worship

2 w Alchemy



3 x Conjuring

4. » Black magic

Question Number : 74 Question Id : 998367992 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose one that is NOT the correct synonym of the underlined word:

Most of the people in India still believe in sorcery.
Options:

1. » Worship

2 % Alchemy

3. & Conjuring

/4. » Blackmagic

Question Number : 75 Question Id : 998367993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose one that is NOT the correct synonym of the underlined word:

Priya looked very solemn.
Options:
1. % sedate

? % portentous



3.« frivolous

4], » pensive

Question Number : 75 Question Id : 998367993 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose one that is NOT the correct synonym of the underlined word:

Priya looked very solemn.

Options:

1. = sedate

2 & portentous

3. « frivolous

/4. » pensive

Sub-Section Number: 2
Sub-Section 1d: 99836747
Question Shuffling Allowed : Yes

Question Id : 998367994 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

(Question Label : Comprehension



Read the following passage and answer the questions given after
it.

Is academic excellence a true measure of one’s success in life?
Is there a correlation between successful people and the marks
they secured in their academic career? Companies are reported
to have decided not to take top rankers because they were found
to have tunnel vision.

It is true that hardly any country is run by rank holders. It is
those who dabbled in much more than mere academics, who
seem to fit the job. So what is the big deal? We often forget to
tell our youngsters that the achievements of great men and
women stood on the foundation of the mistakes they made in
their formative years.

Behind Winston Churchill’s perfection lay a history of failures.
By making a student walk the tightrope of tough time schedules.
stressful assignments and anxiety-ridden counseling sessions. we
not only rob them of the fun of childhood but also cause damage
to their social, mental and physical well-being.

Present system leaves them no room to err. Error, however. is
the backyard of perfection for it is by learning from mistakes that
we become better and brighter individuals.

There are limits to the child’s elasticity — stretch him too far and
he could snap. Ten years down the line. it won’t matter which
college one went to or how much one scored. Don’t we all know
what qualities matter on the stage of life? All that goes into
building one’s character or personality are acquired in the course
of day-to-day life and not by scoring high marks in examinations.

Sub questions

Question Number : 76 Question Id : 998367995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Companies are reported to have decided not to take
top rankers because they were found to have tunnel
vision”. What is the meaning of the phrase to have
funnel vision?

Options:

1. » A person who looks beyond a tunnel.



? % A person who has negative thoughts.

A person who holds on to a single opinion rather
3 than having a more general understanding.

4. % A personwho cannot handle failures and problems.

Question Number : 77 Question Id : 998367996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author, on what does the foundation
of successful men and women lie?
Options:

1. » Their intelligence.

? % Their hard work.

3 Their previous mistakes.

A % Their academic records.

Question Number : 78 Question Id : 998367997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage which qualities finally
matter on the stage of life?
Options:

Qualities which make them score good marks in
1. ® exams.

Qualities that help them to make their character and
2  personality.



3 Qualities that make him earn more and more wealth.

4. » Qualities that help him gain name and fame.

Question Number : 79 Question Id : 998367998 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the paragraph what is considered as “Backyard of
Perfection™?
Options:

1. + Mistakes,

? u Wealth.

3. % Health.

4] = Academic score.

Question Number : 80 Question Id : 998367999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the Antonym of the word “dabbled™?
Options:
1. » Work superficially.

? # Not be serious.

3. # To mess around

4. Totake part



Question Id : 998367994 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Question Label : Comprehension

Read the following passage and answer the questions given after
it.

Is academic excellence a true measure of one’s success in life?
Is there a correlation between successful people and the marks
they secured in their academic career? Companies are reported
to have decided not to take top rankers because they were found
to have tunnel vision.

It is true that hardly any country is run by rank holders. It is
those who dabbled in much more than mere academics, who
seem to fit the job. So what is the big deal? We often forget to
tell our youngsters that the achievements of great men and
women stood on the foundation of the mistakes they made in
their formative years.

Behind Winston Churchill’s perfection lay a history of failures.
By making a student walk the tightrope of tough time schedules.
stressful assignments and anxiety-ridden counseling sessions. we
not only rob them of the fun of childhood but also cause damage
to their social, mental and physical well-being.

Present system leaves them no room to err. Error, however. is
the backyard of perfection for it is by learning from mistakes that
we become better and brighter ndividuals.

There are limits to the child’s elasticity — stretch him too far and
he could snap. Ten years down the line. it won't matter which
college one went to or how much one scored. Don’t we all know
what qualities matter on the stage of life? All that goes into
building one’s character or personality are acquired in the course
of day-to-day life and not by scoring high marks in examinations.

Sub questions

Question Number : 76 Question Id : 998367995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Companies are reported to have decided not to take
top rankers because they were found to have tunnel
vision”. What is the meaning of the phrase to have
funnel vision?

Options:



1. = A person who looks beyond a tunnel.

2 % A person who has negative thoughts.

A person who holds on to a single opinion rather
3. . thanhaving a more general understanding.

4. % A personwho cannot handle failures and problems.

Question Number : 77 Question Id : 998367996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author, on what does the foundation
of successful men and women lie?
Options:

1. & Their intelligence.

7« Their hard work.

3.  Their previous mistakes.

4. w Their academic records.

Question Number : 78 Question Id : 998367997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage which qualities finally
matter on the stage of life?

Options:



Qualities which make them score good marks in
1. & exams.

Qualities that help them to make their character and
2 . Dersonality.

3. % Qualities that make him earn more and more wealth.

/. « Qualities that help him gain name and fame.

Question Number : 79 Question Id : 998367998 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the paragraph what is considered as “Backyvard of
Perfection™?
Options:

1. « Mistakes.

2 %  Wealth.

3. % Health.

4. = Academic score.

Question Number : 80 Question Id : 998367999 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the Antonvm of the word “dabbled™?

Options:



1. « Work superficially.

7. % Not be serious.

3. % Tomess around

4. » Totake part
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Question Number : 81 Question Id : 9983671000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FleT T g T T Toe F HYS g 87

Options:

+

1. =« TN

4 ¢ I==9dA

Question Number : 81 Question Id : 9983671000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FIT T g T H TRE F S e £7

Options:
1, o T
2_ ® . |

4., v 3Ieead

Question Number : 82 Question Id : 9983671001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hl T Aeq Tl F TRE F 3YF 87

Options:



? ¢ HOH

3. » A

A x IEEAROTT

Question Number : 82 Question Id : 9983671001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT T e T H TE F YT 82

Options:

1 « 3affed

7 v HeOH

3.« wnediEd

4, » IEEAAONT

Question Number : 83 Question Id : 9983671002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P T o U UM< 87

Options:



Question Number : 83 Question Id : 9983671002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIT T M U M 87

Options:
1. » @HAd
2. % UAH
3, » T
4. x FEH

Question Number : 84 Question Id : 9983671003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

-t F T T ‘FEns Use FT T B F9T e

Options:

1. » FH+ET

2w SHEA+E



9 & FiF+59aT

4 = Fig+3er+aT

Question Number : 84 Question Id : 9983671003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfo-fa=g 1 T T ‘Tt 9= F T F=og 47 gem?

Options:

1. = FAR+IT

2 % AR

q o HEHSE

4« FEHSU+R

Question Number : 85 Question Id : 9983671004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HTHIT 9Teg H 5T 9T &1 Famor 22

Options:
1 L ﬁ



Question Number : 85 Question Id : 9983671004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HFR fed H FH IR &1 &3dwor 872

Options:

1. = T9aE=ER

Question Number : 86 Question Id : 9983671005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF & q0T 9 Er weE F & A TgFd @ar § af FA FEenar 87
Options:
1 = T T

- :
9 Clacd U

3 % Gl ST

4, & HoTHAOT TS

Question Number : 86 Question Id : 9983671005 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

U &1 90T e fREr e # & AR 9T giar § & AT FHgorar g7
Options:

. T ST

2, EFcd TS

3 x FEHIOT A4

A« HEIIOT TSA

Question Number : 87 Question Id : 9983671006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e =umeeoT F 9% FT £ A, ‘TemwEme 3 wfhngmems g 22

Options:

1. » T=Eewor

4,;@6‘&?1?1

Question Number : 87 Question Id : 9983671006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2er curerToT F I8 Fur £ I, ‘SemyErme 3t wfegwews g B2

Options:



Question Number : 88 Question Id : 9983671007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FEl e & FiF T TIT 27

Options:

l.Jaﬁ?-I

Question Number : 88 Question Id : 9983671007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ol o F T o7 TEE 22

Options:

1.fﬁﬁ?§



Question Number : 89 Question Id : 9983671008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9T ¥ Bof PR & - 99T § W F FiT AT F Fgl A7

Options:
1 1 %g

2. % HH

3, » U

Question Number : 89 Question Id : 9983671008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uz ¥ B PR £ - 90 § F F FiT AT FLEF Fal A7

Options:

1. = &OT

2. & FH



Question Number : 90 Question Id : 9983671009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRl § 8 #ig o =g @y a=7 &

Options:

1 « TaF 3 @ G &

9« € 9= E forg B @

3 o FidA TFT elad ¢, o afEs dgee &1 a7 F g @

4 « FEAA F @SeT aH7FAr g

Question Number : 90 Question Id : 9983671009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T=oRa 7 8 #iF 7 gy By a7 &

Options:
1 « TAF 31T T @ ¢

5 . T 9EE ¥, fhg R &

g i T U g, e e dgereet @ A 7 g 8l



4. « FEAR H B TH S AT Bl

Question Number : 91 Question Id : 9983671010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

roafestas =T ST a1 27

Options:

1.« TE! = Fe-Fe a5 7Y 9§
9 x 9% FATCA g & §E T = 0
3 x crifeh Fga g & s e B

A x TF T ¥ Fo e o w2 a

Question Number : 91 Question Id : 9983671010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

reomfestas a=g ST I7 &

Options:

1 » @8 58 F-He age R AT g

D u #3% WATA T & T = T A0

3.« EfeE FEd g & e Fer g

4 HH JEdFod ¥ $o fohald of & |



Question Number : 92 Question Id : 9983671011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'HTTST 9TeC o1 TATTETEr S FiT OT 272

Options:

Question Number : 92 Question Id : 9983671011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTTATT 9Teg T TINTETET € FiT AT 272

Options:
1. » e
2. » o
3. v EE
4, = WY

Question Number : 93 Question Id : 9983671012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TEHT e F Tl TIISTET g HiA T 22

Options:



1 » oo, sfaw, wamwa, S

=

4'Jﬁfam,aﬁﬁm,w,mﬁé’r

=

Question Number : 93 Question Id : 9983671012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTeHT ofeg & TEr TUTSTE T HiT H E?

Options:

e, JTUISaT, JEIerdT, S

4 TR, ERTE, T, s

Question Number : 94 Question Id : 9983671013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘NS 9Teg &1 T9alT =g &7 27

Options:

1. » SE



Question Number : 94 Question Id : 9983671013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HTETE' 9Teg, &1 T9alld =g &7 27

Options:

1 = %

> x fauE

Question Number : 95 Question Id : 9983671014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TETY WS F O U FAT g7

Options:



Question Number : 95 Question Id : 9983671014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TETY WS F O U FAT g7

Options:

1. = CIEEC
2 = CEET]
3. ¢ HegTaT

Sub-Section Number: 2
Sub-Section I1d: 99836749
Question Shuffling Allowed : Yes

Question Id : 9983671015 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

Question Label : Comprehension



d T s seEmy # e @ T §¥Al & 3o
SIS

“foeT off dor F T Tag¥ar @ gt g1 F=HaT &r
TEFT ar a7 & &1 meafasy ofr samar &1 3oy &
HTEAT ST 81 HTCATIRETH g AdGEs siad e @r
Form fA@TEr g1 F= FT GFAT ol & 9 &= 3R
HTeHTaT, 3% 9fa SFEaedr &1 aiv ganir J31er & 397
ST S &1 §H HTRETHT H JoAT H AT TEIarT
TSET TET| FHAT AN Saa-36 F W g9 21 gAY
HETRES & HAF FE el TGN Hg W HAfawar §
AT A2 A 3 T el O, dFeqes I gaHar
AR HTHETHT F [ATH Al ¥ 3eglel AATGH T,
fgEeaar AR AcAfasRar & SR & 3= Bfdee
U §AT5| g5 HIWRT T g ALl STeAr, HTWT FH TE
SATT &1 FETACT, TS, 32T F gH IfE TR
g7 o o WheraT @eaa g1

Sub questions

Question Number : 96 Question Id : 9983671016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=0T ¢ &H 4T &aT1 27

Options:

1. = ﬂ?ﬁ-:ﬂfraw%l

9 TEER AT §, HCAASRAT &ar gl

3. % HIN T T gl



4, S @G & g

Question Number : 97 Question Id : 9983671017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT JUET & 39 FA-FAT 97 AT 87

Options:

1. « 3T NTHETHT F AT F 357 & FToo

HIAT Saa-gter & giaar A9 T4 F

3 x HIEU W UE ST & =R

g2 & GFAT, Bl #F =g dR Sl &
4, v Y

Question Number : 98 Question Id : 9983671018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

EAN FETIOur & FAT-FAT fRaT?

Options:

1. « BH TEaaaT & FEAR fear

A% FoC Tg, TFAT Tl I HATasar &
2 o THEHET F@ G

9 . BH 3T F AT e F AT AT e

4 « BH FCAR §94 & 3FE TG U



Question Number : 99 Question Id : 9983671019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HMTcATITTT 85 4T 91 +{dl &7

Options:

1 « TI=0G SNae Sl &l &g & gl

9« TEAT v e & afEFT &

3« I ReE & TS §94 & g

HIcATIRATH &8 ARGl Had S T dell
4'\'.,? ‘I:@@ET%I

Question Number : 100 Question Id : 9983671020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9T ¥ §FadT &8 9eg T AT Fhdr 87
Options:
1. » 3eh TR & FC Hghl|

9 FEA, WS AR FRA F TEFR TAH

3. % TET AR FTET Fr TAET FH

. » #F F FAG W ST FF|

Question Id : 9983671015 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

Question Label : Comprehension



d T s seEmy # e @ T §¥Al & 3o
SIS

“foeT off dor F T Tag¥ar @ gt g1 F=HaT &r
TEFT ar a7 & &1 meafasy ofr samar &1 3oy &
HTEAT ST 81 HTCATIRETH g AdGEs siad e @r
Form fA@TEr g1 F= FT GFAT ol & 9 &= 3R
HTeHTaT, 3% 9fa SFEaedr &1 aiv ganir J31er & 397
ST S &1 §H HTRETHT H JoAT H AT TEIarT
TSET TET| FHAT AN Saa-36 F W g9 21 gAY
HETRES & HAF FE el TGN Hg W HAfawar §
AT A2 A 3 T el O, dFeqes I gaHar
AR HTHETHT F [ATH Al ¥ 3eglel AATGH T,
fgEeaar AR AcAfasRar & SR & 3= Bfdee
U §AT5| g5 HIWRT T g ALl STeAr, HTWT FH TE
SATT &1 FETACT, TS, 32T F gH IfE TR
g7 o o WheraT @eaa g1

Sub questions

Question Number : 96 Question Id : 9983671016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=0T ¢ &H 4T &aT1 27

Options:

1. = Q-8 2ar gl

2, TERR 4T §, HICHASAT a1 &

3. « IR T oo gl



A HOF FE-GRUT &

Question Number : 97 Question Id : 9983671017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AAET & 37T FA-HT a9 AT g7

Options:

1w 37T TRTET3T & T H 334 F TaoA

HIAT S-S F GlAUT HeH A F

3w HIEY H UG WA F HER

F=T FT TEATH, DIEr F =8 3 S=edr &
4. v

Question Number : 98 Question Id : 9983671018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FAN HETRS! F - fear?

Options:
1. « BH TId9T &1 §ER feam

3% F°C Tg, TTATC el T alashar &
2 THSIEr 7T e



7 . BH 3T & AT & F oA A7 e

4 x BH FCARSR s F 3T vaIT Fo

Question Number : 99 Question Id : 9983671019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MTcHTTTH 85 =417 91 FIar 27

Options:

1 « TI=0¢ Iad S F1 =T & ¢l

2 TEAT AU = & ofFT &ar g

3.« ¥ e & EiF @9 &ar gl

HICATIATE gH HIEIUT Fae et Fr el
4. » T gl

Question Number : 100 Question Id : 9983671020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H TFAdT FH 9o S 3T Fdr 87

Options:

1. % 3% JFR & Foc HgHT|

AT, T AT AT 32 T90TAT F HEFRR aATRT
2. ¢ A



3. » THET IR 3T FHr gET F6FI

A, » #FT & @ W AT Feh|

Disciplinel
Group Number : 6
Group Id: 99836712
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplinel
Section Id : 99836718
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836750
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983671021 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In a war 63% of the soldiers lost one eye, 82% an ear, 68% an arm, 91% a leg, x% lost all the four limbs then find the
minimum value of x?

Options:
1.« 4



Question Number : 101 Question Id : 9983671021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF g & 63% VAt o 3l UF AW, 82% A TH FeA, 68% A T aIg, 91% F ek T 4T &Y,
T, x% A 39 ey ART 3497 711 T, aF x &7 7YAaT AT AT HL2

Options:

1. ¢ 4

2. % 8

Question Number : 102 Question Id : 9983671022 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In a certain college 25% students joined in cricket and 15% in volleyball, 65% students neither joined in cricket nor
joined in volleyball. 2000 students joined in both cricket and volleyball. Consider the following statements in this
regard.

I. 10% students joined in both cricket and volleyball
I1. 35% students joined in either cricket or volleyball
ITI. Number of students in the college 40, 000

Which of the above statements are correct?
Options:



1. = Iandll
? # TandIII

3« HandIII

4. = LIland I

Question Number : 102 Question Id : 9983671022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FHielet H, 25% Feanfiat & e 3R 15% & Freiare =1, 65%
faeantat & @ o frse 7 & aTeiater gam 2000 fagafdat & fde
3R afelarar aal 1 o1l 38§ a9y 7 @5 sy )W = #i

. 10% i@t & e 3R arelarer e
II. 35% feganfiat & frere 37erar areitarer =T

|1I. sFTersr & Taganfeat $r d=ar 40,000 2
3Fd FUAT H A FiT T g7
Options:
1« 13RI
2« 13RI
3 o 3R

4w L3



Question Number : 103 Question 1d : 9983671023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Relation- “Has a common factor greater than one with” between natural numbers greater than 1. is:
Options:
1. w» reflexive and transitive but not symmetric

I reflexive and symmetric but not transitive

3 x symmetric and transitive but not reflexive

4. w reflexive, symmetric and transitive

Question Number : 103 Question Id : 9983671023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 ¥ 937 IIpiae TEITHT & &9 FU- “UF § 987 U ATTGAS 2l & 8.

Options:

1« HGAT AT ThaAd lfched TATHIT el

2, FHEA! AR TAEET AR THEE T

3. » WAADT AN TEHAT Afhd HaAsmdl A6l

4« FHEA, FTAEESNT AR TFAF

Question Number : 104 Question Id : 9983671024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f : R — R is a function defined by f(x) = 10x— 7 .If g = f ~* then find g(x) ?
Options:



1. & 10x—7

7. % 10x+7

x+7

Question Number : 104 Question 1d : 9983671024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fiR—R f(x)=10x—7 g Rui@ tr vea &1 T g=F 7 A g(x) & 7F 7T FL?

Options:

1. = 10x—7

2. % 10x+7

x+7
3 ¢ 10
=
4, & 10

Question Number : 105 Question 1d : 9983671025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

_fE 0, 10 G | ,
itA=(" )I=(; ;)andA®=8A+al thenfind the value of @

Options:



2. T
3. » 8
4 = -8

Question Number : 105 Question Id : 9983671025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afa=(1 Nr=( Yk a2 =84+al & « = 7= 7T F?

—1. 7 0 1
Options:
1. » 7
2. v -1
3. = 8
4, = -8

Question Number : 106 Question Id : 9983671026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S i
Ifx—l—(_4 4
Options:

1. = -1

) and if [ + 2A+34°+ -+ oo = [3 ‘g]then find the numerical value of |[@ + 8 +y + 6|7



Question Number : 106 Question Id : 9983671026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Iiﬁ'z-'l=(_24 fz)sﬂrﬂﬁf+2A+3A2+---+oo=[§ ’g] & la+ B +y+ 8| @ fEed AR A 2
Options:

Question Number : 107 Question Id : 9983671027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Co-ordinate axes X and y are rotated in an anticlockwise sense through an angle @ . so that the co-ordinate (x,9).

If the axes are rotated through an angle £ , then the co-ordinates of the point in its new position are (x,,¥,) . It is given

xl pi=ts e xz Ak s ] . . - 2 H T
that, (}’1) =R ‘.—') and Vi ) =R, (y) .where R; and R, are two (2 % 2) matrices. Then the value of (DetR,)

(DetR,) is equal to:

Options:
1. » sina sinf



2 w sina cosp

3 x cosa sinf

4 v 1

Question Number : 107 Question Id : 9983671027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 387 x AR y vE T o F 3H IER FAES A & F FEww (xy) & 3 e For B, F Avemw
¥ gEa € A SR s Rfa WO & PR oy BT R E R () = Ra(p) R () =Ra (),
SeT R, AR R, & (2 x2) HeAE &1 O (DetR,) (DetR,) F AT g

Options:

1. % sina sinf

2  sina cosp

3. % cosa sinp

Question Number : 108 Question Id : 9983671028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

p 3 2

FA=|1 g 4] . pgr = 60 and 8p + 4q + 3r = 20 then find the value of A(adj4)?
O

Options:

64 0 0
0 64 0
1. = Lo 0 64



88 0 0
0 88 0
72 = Lo 0 88

68 0 0
0 68 {]1
3.«1L0 0 68
34 0 0
[D 34 {]]
4 % Lo 0 34

Question Number : 108 Question Id : 9983671028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B 3 2
gig A=|1 ¢ 4],3}{;?‘=6D 3T 8p+4q+3r =20 ar A(adjd) =T AF AT FL?
2 2 r
Options:
64 0 0
[D 64 D]
1. = 0 0 o4
a8 0 0
[U 88 {]]
2. = 0 0 88

34 0 0
0 34 0

0 0 34

Question Number : 109 Question Id : 9983671029 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

lim (4% —-1)3

Evaluate: .
x— 0 s;n{f]lage(u‘r?)

Options:
1 E (}‘Dgeq')g

2 . lﬂge'q'

3 ¢ 12(log.4)°

4, » 5(log.4)°

Question Number : 109 Question Id : 9983671029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

lim (4%-1)3
x—0 Sin(fjlnge(1+rz)

2

HedThe Y

Options:
1 . B {Iﬂgg-‘-l-:]a
2 x log,4

3 o 12(log,4)°

4. x 5(Qog,4)?

Question Number : 110 Question Id : 9983671030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

lim tan(l-—272%]x%)—x2tan([-2+21)

= sin®x

If [ ] denotes the greatest integer function, then find the value of 5

Options:



1. «+ —20+tan20

? % 20+tan20

4 = tan20

Question Number : 110 Question Id : 9983671030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

: . lim tan([-2r%]x®)—xtan([-2x2]) ¢
IfE [ Feeas qOiie o &) eaad &3 8, a " & A AT

x— ) sin®x

Options:

1. ¢ —20+tan20

? % 20+tan20

4. = tan20

Question Number : 111 Question 1d : 9983671031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The value of p and g for which the function
il

; : iE = 8
f{sz{sm(p%—li;r%—smx'ifx g
a ifx > 0

e ¥
vax+xt—x

g

LS xz

is continuous for all x in R, is:

Options:

Question Number : 111 Question Id : 9983671031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qurﬂmﬂ,ﬁ:@#%am

s A ifx < 0
Fi = sin(p J)Cx Smx,ifx _ 0
5 ifz > 0

| =] =
YyE+XC—Y X
2
L9 x2

R & @sft x & T wag &, gFm:

Options:



8

®

=
g‘}
=
Il
b | =
Et
Il
|

Question Number : 112 Question Id : 9983671032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If £ (x) = —f(x) where f(x) is a continuous double differential function & g(x) = f'(x).

2 2
o £ T (f G)) + (g G)) and F(5) = 5. then find the value of F(10)?
Options:
1. = 0

2. 5

3 % 10

4 w 23

Question Number : 112 Question Id : 9983671032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Il ' (x) = —f(x) @ f(x) TF TIT ST FHTohad Ford AR gx) = ' (x) &l

R F(x) = (f(g))2+ (g(;_—‘))2 3 F(5) = 5, & F(10) & &1 71 g &3

Options:

1. = 0
2. v 5
3 = 10
4 % 25

Question Number : 113 Question Id : 9983671033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A function y = f(x) has a second derivative f''(x) = 6(x — 1) . If its graph passes through the point (2. 1) and at that
point the tangent to the graph is ¥ = 3x — bthen the find the function?
Options:

1. % =1

2w (x+1)

3. % @+1)°

4.0 G-

Question Number : 113 Question Id : 9983671033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T el y = f(x) FT AT HeTest f'(x) = 6(x— 1) §1 A gHH 716, &g (2, 1) F s # 3k
39 g W % & Ty =3x— 5 &, af Boad 99 02



Options:

: T e K
2. & @EtlF
B & @EHLF

4, v x—1)

Question Number : 114 Question Id : 9983671034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the unit vector unit tangent vectoratt=2onthecurve x =t*+ 2,y =4t — 5,z = 2t* — 6t 7

Options:

5 2 %G+f+ k)

%(2?+ 2j+k)

%(H}’Jr k)

Question Number : 114 Question 1d : 9983671034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF x=t>+2,y=4t—5z=2t2—6t W t = 2 T SHIg A Ths TIR=AT FlgYT AT H{|

Options:



Tres, . A
EG+;+E¢)

%( 21+ 27+k)

1 - o —
3 V,—E(21+j+k)
% & §(Y+;+k)

Question Number : 115 Question 1d : 9983671035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given |d| = |E| =1 and |& - E_;| — /3. If ¢ be the vector such that & — @ — 2B = 3 (Ei X E) then find the value of
b ?
Options:

—1

1. = 2

e Y S bd | =

3 en

4 v

Question Number : 115 Question Id : 9983671035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g o lal=|b|=1 3k |a+b|=V3E 1 TfE ¢ s R Aer § F é—da—2b=3 (@xb) ar
¢[b &1 7F AT FL

Options:
—1
1, = 2
i §
2 = 2
3
2 = 2
5
4, v 2

Question Number : 116 Question Id : 9983671036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

: g . ! A =& b ¢ y . . .
The angle between the line with direction cosines (ﬁ, W W ) and the other line with direction cosines
v 21 ¥

(% - % 5 ‘%1) is 90° then find the pair of possible values of @ and b respectively?

Options:
1. % L4

3 ¢ 4l

4, % 42

Question Number : 116 Question Id : 9983671036 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

e wreme (=, =, = ) e @ Ak e e (=

V21 'y21’ V71

& FA: @ AT b F FeATAT AG F YA A FL?

)aﬁrarai‘m#é’maﬁw%"%

'\1'.34 1-.34-

Options:
1, = 1,4
2. % 42
3. v 4.1

4. % 42

Question Number : 117 Question Id : 9983671037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the distance from point A(1.1.1) to the line passing through the points B(0. 6. 8) and
C (-1, 4. 7) is expressed in the form JE where p and g are co primes then find the value
q

(p+alp+g-1)
2

of

Options:
1. «» 4950

Question Number : 117 Question Id : 9983671037 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

ofg g A(1,1,1) & g B(0, 6, 8) & gre F[=idall Y@T & & T g 3R

C (-1, 4 7)\]%??%Hﬁ'cﬂdﬁd%dsi p 3 quE 3w ¥ ar

(p+qllp+g-1)

FT A AT FL?

2
Options:
1. « 4950
2 % 5050
3. % 5150
4. % 5510

Question Number : 118 Question Id : 9983671038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bag contains 3 red and 5 black balls. Two balls are drawn at random. The probability that one ball is red and other is
black is P then the value of 28P — 15 is:

Options:

1. = 1

2.« 0

td | =



Question Number : 118 Question Id : 9983671038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v ¥ F 3 A HR 5 FE G g1 2T A TEeod T H Wl 7% gl TF g F A AR ZE g
F FTET gl Fr TAFar P &, & 28P - 15 &7 AT g5

Options:
1« 1
2. v 0

e I

Question Number : 119 Question Id : 9983671039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two numbers a and b are chosen at random from the set of integers 1, 2, 3........ 15. The probability that the equation
2a-3b =0 is satisfied, is:

Options:
1

1.« 21

H|M

Ln

2. »

[

Question Number : 119 Question Id : 9983671039 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
& HEIC 2 3R b quUite & @F==d 1, 2, 3,...... 15 ¥ arEfeas IAr 715 & FASI 22 -3 =0 &
HISC & I AAHT &

Options:
1
1. ¢ 21
2,
2. ® 15
2
3 = 21
3
4 = 31

Question Number : 120 Question Id : 9983671040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the range of a random variable X is with {0,1,23.....} with P(X =t) = ‘t:‘r—?a for t > 0, then find the value of >

Options:

2
1. = 3

| D



Question Number : 120 Question 1d : 9983671040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uﬁrgu#ﬁvwmmxﬁmmfzr):“g—? ¥ @ {0123...} & & > & AW
AT HI

Options:

2
1 L] a 3

9
2. v 4

8
2 = 2V

16
4 = 81

Discipline?2
Group Number : 7
Group Id : 99836713
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplinez
Section Id : 99836719

Section Number : 1



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836751
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9983671041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If X follows a binomial distribution with Parametersn=8 and P = % then find the value of P(|x— 4| < 2)?

Options:
119
1. « 128
9
7 = 128
101
3 = 128
El
4 % 128

Question Number : 121 Question 1d : 9983671041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afE X F e n = 8 R P = AWH & WY Tr fA9G dea AT &, A P(x—4|<2) F A A
FL

Options:
119

1. v 128



2 % 128
101
3 % 128
11

128

P
g}

Question Number : 122 Question Id : 9983671042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7

In the expansion of (2 + ;—x) . the coefficient of X7 and x~° are equal then find the value of n.?

Options:
1. » 51

Question Number : 122 Question Id : 9983671042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬂ & + - .\1
(2 +i) & gOR H, x7 EL 10 g5 - AT FHTA %‘, ar n T A AT FL7?

Options:

T. = B




Question Number : 123 Question 1d : 9983671043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the digit at unit's place in the number 17%%5 4+ 111995 — 719957

Options:

Question Number : 123 Question 1d : 9983671043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

171995 4 111995 _ 7199 Fwgr # SR & TOH W 3F A7d F<
Options:



Question Number : 124 Question Id : 9983671044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Harsha invites 13 guests to a dinner and places 8 of them at one table and remaining 5 at the other, the tables being
round. What is the number of ways he can arrange the guests with reference to the tables?

Options:
11!
1. = 40

12!
7 = 40

13!
3.« 40

M

e
%

Question Number : 124 Question Id : 9983671044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & 13 AgAE & TN W HHERT &, A AT A 8 U AF R A 5 N UK 3T HF W
rarar, FF e &1 AT F TEH F I FEAAT T T T ¥ HEr gear 27
Options:

11!

12!
2. = 40



13!
3 ¢ 40

4 = 9

Question Number : 125 Question 1d : 9983671045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(o#2)! Q2+ 72 shere x € N then find the value of X 2
(2a—10 (x+3) 7

Options:
54
1. = 28

—54
? = 28

Question Number : 125 Question 1d : 9983671045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

u-%‘- Ex+2]:x{2x+1j:=§ag:rX'EN aﬁ.x EFI'EE'?FIHEF}?

@x—1}  (x+3)

Options:
54
1, = 2B
—54
2 % 28



Question Number : 126 Question Id : 9983671046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a badminton tournament each player playved one game with all the other players. Find the number of players
participated in the tournament if they played 105 games.

Options:

e
#
—
=

Question Number : 126 Question Id : 9983671046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T=Hea & & TAHE H T3S Qs 7 3wy w3l Benfsat & mry ve 9\ @) afg @enfEar F 105
FIH Tor a7 HT A arer [@antedt f gEr 79 4

Options:
T. = 35
2.« 15



Question Number : 127 Question Id : 9983671047 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

There are 3 apartments A, Band C for rent in a building. Each apartment will accept either 3 or 4 occupants. Find the
number of ways of renting the apartments to 10 students?

Options:
1. v 12600

i

2 % 10800

v

3. = 13500

A, % 15000

Question Number : 127 Question 1d : 9983671047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF 997 H 3 FUEHC A, B 3 C BT & BT E 9oie AT 3 arvar 4 REnd oo w1 g
10 Remfaar &1 3ueHe & & Il HT FEAT AT H?

Options:

1. ¢« 12600
2 % 10800
3 = 13500

4. % 15000



Question Number : 128 Question Id : 9983671048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For the equation |x*| + |x] — 6 = 0, the roots are:
Options:
1. » Realand equal

? « Real with sum 0
3. ® Real with sum 1

4. » Realwith product 0

Question Number : 128 Question Id : 9983671048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THEFOT 22|+ x| —6=0, F 9T &

Options:

1. = arEdfas AR S

2 TET 0 F WY FIEIEEH

3 % TE 1 % T AEdEE

2 s OGS 0 F Y TEATH

Question Number : 129 Question Id : 9983671049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the equation ax® + bx + ¢ =0 and x* + x + 1 = 0 has one root in common then find the value ofa: b:c?

Options:



bty
<
—
—
=

2 % 1:%:3%
2 % 2:3:1
4 % 3:2:1

Question Number : 129 Question Id : 9983671049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e FEAOT ax’ +bx +c=0 3N x> +x+1=0F TF 9g 39TAS &, ar a : b ; ¢ & AT A4 HL?

Options:

T: o ¥% 455

2. # 1:P=4

Question Number : 130 Question Id : 9983671050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifz = ?Lhen find the value of (%% + z1°1)1%3 7

Options:

1. = iz



(2
#®
]

4. % @z (wisacomplex cube roots of unity)

Question Number : 130 Question Id : 9983671050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aty 2= @200+ @ A T

-
=

Options:
T. ® 2
2. ¢ zZ

4 » ©Z (0 TH TS FF 9THA 2)

Question Number : 131 Question Id : 9983671051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifz? +z+ 1 = 0 then find the value r:rf(z —F%)2 + (zg —|—ziz)2 - (zg —|—zla)2 - -----—4—(321 -4—i)2 ?

z21

Options:



21

>
%

4'\; 42

Question Number : 131 Question Id : 9983671051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofy 22 4z+1=07ar (z+%)2+(zz +ziz)2 +(z3Jrzia)2+-----+(z“+i)2 T HT AT L

Options: B
T. & 1
2. u 22
3 = 21
4, v 42

Question Number : 132 Question Id : 9983671052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8,-8 8,+8
If cosB; = 2cosB, then find the value of tan % Aan—=—29

Options:



Question Number : 132 Question 1d : 9983671052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8,-8 g,+8 i
A cosB, = 2c0s6, A tan=—.tan-—2 H A AT F|

Options:

i §
1.

-1
2. ¢ 3

Question Number : 133 Question Id : 9983671053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10 10

Ifthesum X i (E) = K then find the value of K 7
n=1m=1

Options:



Question Number : 133 Question Id : 9983671053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10 10 ;
Iy v wn (E)Wﬁw:f{:rr ar K & J3F 71d HL

n

n—=TtTm=1

Options:

1. = 5
2w 15
3. v 25
4. = 35

Question Number : 134 Question 1d : 9983671054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the sum of the infinite series 1 + %—1— %—1— g -+ ;—j + e 7

Options:



®
L

4.

Question Number : 134 Question Id : 9983671054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

- x 2 & 10 14 N N
fia L, A et eI d
Held H@el 1+ -+ -+ + 0+ Rl TMET AT =R
Options:
1. ® 1

2. % 2

Question Number : 135 Question Id : 9983671055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of 15 terms of the series 1+ (14 3)+ (1 4+ 3+5)+ (1 +3+5+7)+--- is 10 X A then find the value of A

Options:
1. « 124

2 % 142

bb.
#

I
I
=

Question Number : 135 Question Id : 9983671055 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
14+{1+3)+1+3 4+ +Q +3+54+ 7} 4+

Options:

1. v 124
2 x 142
3. = 240
4. = 220

- % 15 9gF F TRT 10X A &, & A &7 JF 79 F

Question Number : 136 Question Id : 9983671056 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Find the value of x satisfying the equation [3 (1 — % - i Poiant +c:c:-)]mgmI s [2(} (1 _i+ i <A 4 m)]k’g‘m 2

Options:

1
— 100
1. » 100’

100

= only
2. % 100

3 u 100 only

Question Number : 136 Question Id : 9983671056 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

THRIOT [3 (1—§+i+.....+m)]logmx — [20 (1—3_]_&_4_.....--1-00)]10&510 ﬁmmﬁg‘@xﬂmmﬁl

Options:



1
——= 10

1. « 100’

4 4 mm

3w FHae 100
1

% % mﬁ

Question Number : 137 Question Id : 9983671057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The lengths of the perpendiculars from (m?,2m), (mn, m + n)and (n*,2n) to the v-axis are in:
Options:
1. = AP

2 « GP

IHL.P.

-
%

4 = AP and G.P.

Question Number : 137 Question Id : 9983671057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(m?,2m), (mn, m +n) AR (n2,2n) ¥ y-3787 I A(&eaT 7 F=9=ar e

Options:

1. = AP.



. o GP.

4. = AP. 3R GP.

Question Number : 138 Question 1d : 9983671058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the line 3x+ y+2=0,2x—y+ 3=0and a°x + 2ay + 6 = 0 are concurrent then find the value of a ?

Options:

1 = (V7+1) only
% % (1—+/7) only
3« (V7+1). (V7-1)

4 ¢ (V7+1) . (1-+7)

Question Number : 138 Question 1d : 9983671058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I 3@ 3x+ y+ 2 = 0, 2x- y+ 3 = 03 a®x+2ay+6 =0 T §, & a T HAF AT FY

Options:

1 & SEa(V7+1)

2« FE(-Y7)



3. ® (1,"'7+1), (*\,"'7—1)

4 o (V7+1), (1—+7)

Question Number : 139 Question Id : 9983671059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the variance of the following data 6. 7, §, 12, 13, 15?

Options:

Question Number : 139 Question Id : 9983671059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o =Rar 6, 7, 8, 12, 13, 15 & a=rey 7 g 172

Options:

1. = 12.05

2.« 11134

3. % 14.08



4. % 1215

Question Number : 140 Question Id : 9983671060 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The mean and variance of 6 observations are 5 and 7 respectively. If the four observations are 1. 3. 4. 6. then find the
sum of the remaining two observations?

Options:

Question Number : 140 Question Id : 9983671060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

6 JaToT Fr ATew 3 Bwes wEen 5 3k 7 g1 3fE = vevor 1, 3, 4, 6, &, Ot 9w 2 YeTUT FT T

AT F
Options:

T. = 15
P« 16
3. = 17



Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section 1d:

Discipline3

8
99836714
0

0
No
No
0
20
No
Yes
0

0

Discipline3

Question Shuffling Allowed :

Question Number : 141 Question Id : 9983671061 Question Type:

Correct Marks: 1 Wrong Marks: 0.25
Match the following:

LIST-A

(1)First generation computer

(ii) Second generation computer

(iii) Third generation computer
Options:

1. » @ —(@), (i)~ (e), (i) — (b)

2. % —(b), (i) —(a), (iii) - (¢)

LIST-B
(a) EDVAC
(b) PDP-8

99836720
1

Online
Mandatory
20

20

20

1
99836752
Yes

MCQ Option Shuffling: Yes

(c) IBM 7030



3w ()—(©). (i)~ (), (i) - ()

4, » {©)—(c). (i) - (b), (iii) - (a)

Question Number : 141 Question Id : 9983671061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o= =1 B9 &4
T - A wh - B
(i) 9uH 9Er & FogE (a) EDVAC

(i) Z&Lr 9 F FeEE (b) PDP-8
(iii) Fradr 9 & FegE (c) IBM 7030
Options:

1. » (@) -(@) (ii) - (c), (iii) - (b)

2. = (@) - (b), (i) - (a), (i) - (c)

3, = () - (c), (ii) - (a), (i) - (b)

4, = () - (c), (ii) - (b), (iii) - (a)

Question Number : 142 Question 1d : 9983671062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an input device?
Options:
1. » Keyboard



2 w Digitizer
3 % Speechrecognition device

4. v Plotter

Question Number : 142 Question Id : 9983671062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 @ Fl7 T e Ramw 7 2

Options:

1. = =HEE

2 x BEeEsR

Question Number : 143 Question Id : 9983671063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an example of a non-impact printer?
Options:
1. « Inkjet printer

? % Drum printer



3 % Chain printer

4. » Dot matrix printer

Question Number : 143 Question Id : 9983671063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 @ FiF o Aa-sFiee W & 3eeIr 22
Options:

1 o FFee B

2« 3H B

3. % T WX

4w 3 #Aftww frex

Question Number : 144 Question Id : 9983671064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are true?

(i) Flat-bed scanner is a type of image scanner.
(i)  Optical character recognition devices convert the bit map images of characters to equivalent ASCII codes.

Options:
1. » Only (i) is true

2 % Only (ii) is true

2 v Both (i) and (ii) are true



4. % Neither (i) nor (ii) is true

Question Number : 144 Question Id : 9983671064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ 7 @1 &9 "er §/3?

(i) Foe-9% Thell, TF Yo &1 SHA Thad 81T 2l
(i) ewa HFX RFta= A, R 39 ofagl &1 '9gea ASCl Fi58 & TRafaa & 2

Options:

1. = aer (i) TET 8

T Haer (i) WEr g

3. » () A (i) 2t wr ¥

4, w @@ ()& (i) wEE

Question Number : 145 Question Id : 9983671065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following:

LIST-A LIST-B

(1) Dot matrix printer (a) Page printer

(ii) Chain printer (b) Line printer

(1ii) Laser printer (¢) Character printer
Options:

1. » B —(). () —(c). (i) — (b)

2. % @O—(0), (1) —(a), (i) - (c)



3w ()—(©). (i)~ (), (i) - ()

4. » @ —(c). (i)~ (b). (i) - (a)

Question Number : 145 Question Id : 9983671065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o &1 e F4
o= - A T=r - B
(i) 57 AR=FT Vex (a) 9= Bex
(i) == frex (b) ams= e
(iii) e e (c) Fieex Brex
Options:

1. = () - (@), (ii) - (c), (iii) - (b)

2. « (1) - (b), (i) - (a), (i) - (c)

3, » () -(c), (ii) - (a), (iii) - (b)

4, » () -(c), (ii) - (b), (iii) - (a)

Question Number : 146 Question Id : 9983671066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Microsoft PowerPoint is an example of
Options:

1. # hardware



? & software

3. % firmware

b

malware

<,

:

Question Number : 146 Question Id : 9983671066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATSHIEFe qraicase T TF 3CEI0T &

Options:

1, » BEIW

2 o TEEW

Question Number : 147 Question Id : 9983671067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a type of software?
Options:
1. » Application software

2 % System software

3 » Programming software



4.  Integrated development environment

Question Number : 147 Question Id : 9983671067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T/ 7 O =I9 TF 95R 1 @39 J55 872

Options:

1. » Uit ATFSIT

2 « fred goeam

3w  GENfET FEEEET

4 o EEIEs TEEIHE TeaTgAAe

Question Number : 148 Question Id : 9983671068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following:

LIST-A LIST-B

(1) Hardware (a) Quick Heal

(i1) Software (b) BIOS

(1ii) Firmware (c) Motherboard
Options:

1. % @ - (@), @) - (), i) - (b)

9w @ (0), i)~ (@), (i) - (©)

3 » (O)—(0). ()~ (a), (iii) - (b)



4 % @, G~ ), i) - (@

Question Number : 148 Question Id : 9983671068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot =1 e
T - A = - B
(i) BTE3TT (a) o= g
(i) FFeIaT (b) BIOS
(i) FHEIAT (c) ASIars
Options:

1. = () - (@), (ii) - (c), (iii) - (b)

2. = () - (b), (i) - (a), (i) - (c)

3. v () - (@, (i) - (@) (i) - (b)

4, (1) - (c), (i) - (b), (iii) - (a)

Question Number : 149 Question Id : 9983671069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In Windows NT, NT stands for

Options:
1. « New Technology

? # New Terminal



3 x Nano Technology

4. » Newest Technology

Question Number : 149 Question Id : 9983671069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fager NT &, NT & 3t g &l
Options:

-I o Hi\m?rﬁ%ﬁ'

2 % ﬂﬁﬁ

Question Number : 150 Question Id : 9983671070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about Windows XP is FALSE?
Options:
1. % Itisa pre-emptive operating system.

2 w Itisamulti-tasking operating system.

3  Itisavailable only in 32-bit version.



/4 % Tt is the successor of Windows NT and Windows 2000.

Question Number : 150 Question Id : 9983671070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eI XP & a1 & = § ¥ 9 &1 +:39 7od &7?

Options:

1« U8 UH W-uEafed dRiEer Bwea g

2w UE UF FAedl-eliewe e BreH g

3. » T8 Hae 32-bit FEHIUT H 3T ¢

4« TE &= NT 3R &8s 2000 & scqufsnr g

Question Number : 151 Question Id : 9983671071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are FALSE?

(i) Kernel provides trap handling for exceptions and interrupts generated by hardware and software.
(ii) Windows XP is NOT portable.
Options:

1. % Only () is false

?  Only (ii) is false

3 x Both (i) and (ii) are false

4. » Neither (i) nor (ii) is false



Question Number : 151 Question 1d : 9983671071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= 7 O 7 o Fua g 222

(i) F=ier, grEdOT 3T WP SaRT Ic9es HIAEr AT st & v dv e 99w F=ar g
(i) T XP r&ser =gt 3
Options:

1w ae (i) 7o &

2 o wad (i) T €

3« () 3R (i) S 7T 7

4. « @ ar(i)ar (i) Toa g

Question Number : 152 Question Id : 9983671072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are true?
(i) Windows is an open-source operating system.
(i)  File Allocation Table is a file system used in Windows operating systems.

Options:
1. » Only () istrue

2 Only (ii) is true

Both (i) and (ii) are true

o
%

4. % Neither (i) nor (ii) is true



Question Number : 152 Question 1d : 9983671072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T &7 @ #iF 3 a9 " 227

(i) == = oa-me AT fAwa g
(ii) P TARA T TF HIee [WEeH ¢ S fasiet ATRfee RweAr # wgEa g gl
Options:

1.« e () W g

2, A (i) WL E

3.« () 3R (i) 3w

4, « () (i) TEE

Question Number : 153 Question Id : 9983671073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a web browser?
Options:
1. = Opera

? % Safari

2 % Netscape

4]  Bing

Question Number : 153 Question 1d : 9983671073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o & @ 5 o 39 981 76 &0

Options:
1. = 39
2. = WEN
3, x wcERd
4, » f&o

Question Number : 154 Question Id : 9983671074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With respect to network protocols, POP stands for
Options:
1. «+ Post Office Protocol

? % Private Office Protocol

3 x Post Operation Protocol

Private Operation Protocol

<,

&

Question Number : 154 Question 1d : 9983671074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

acde GIeie & B H POP &1 39y gl
Options:

1. » dEe AT AR




2y YIEAE JHifhE et

3.« OIEE T dieere

4« TEAE v S

Question Number : 155 Question 1d : 9983671075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are true?
(i) An ad blocker is an example of a browser extension.
(i)  Chrome does not support plug-ins.

Options:
1. « Only (i) is true

2w Only (ii) is true

Both (i) and (ii) are true

-
%

4. » Neither (i) nor (ii) is true

Question Number : 155 Question Id : 9983671075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ 7 3 FuF "5 28?7

(i) TF TT =TT T3 TFHYUA FT TF 3BT 2
(i) PH, ST FT U & FLAT|

Options:



1. o w= () = d

2. % e (i) HEE

3.« () 3 (i) e wEr ¥

4, w () 7 Er (i) TEE

Question Number : 156 Question Id : 9983671076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following:

LIST-A LIST-B

(1) Telnet (a) Electronic mail transport

(1) SMTP (b) Remote login to host

(1i1) SNMP (c) Remote host management
Options:

1. » ®—(). () —(c). (iii) — (b)

7 o D=, (1) —(a), (iii) - ()

3w (- (©). (i) - (), (i) - ()

4. % ©-(©), G-, (i) - @

Question Number : 156 Question Id : 9983671076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ot =7 e &3

& - A = - B
(i) T (3) SFEleeh A I
(i) SMTP (b) BFT & BT A aa
(iii) SNMP (c) R g vyeua

Options:

1. = () - (@), (ii) - (c), (iii) - (b)

2 o ()= (b), (i) - (@), (i) - (c)

3. = () -(c), (i) - (a), (i) - (b)

4, = (1) -(c), (i) - (b), (iii) - (a)

Question Number : 157 Question Id : 9983671077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Microsoft Office 365 was launched in
Options:
1. = 2010

2 2011

i

3 % 2012

i

A % 2013

Question Number : 157 Question Id : 9983671077 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

HTSsIHFe HTha 365 F o= far
Options:

1. %= 2010

2. » 2011

2 % 2012

4. % 2013

Question Number : 158 Question Id : 9983671078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the keyboard shortcut to increase font size in Microsoft Word?

Options:
1. Ctrl+ Shift +)

?2 w Ctl+>

3 4 Ctrl+ Shift+]

4] o Cirl+]

Question Number : 158 Question Id : 9983671078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATZHIETE 92 H BT HFR 910 & o7 HIale AEHS Hid T g7

Options:




1 % Ctrl + Shift + )

2. u Chl+%5

3 & Ctrl + Shift + ]

4 o Cl+]

Question Number : 159 Question Id : 9983671079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a menu tab in Microsoft Word 20167
Options:

1. # References

Review

2

®

2 % Lavout

4. « Data

Question Number : 159 Question 1d : 9983671079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

for & ¥ Fie @ A &9 AEFETe 32 2016 F @ gar?
Options:

1. %= YB@ES



Question Number : 160 Question Id : 9983671080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a valid function in Microsoft Excel?
Options:
1. « SUBSTRACT

2 ¢ MINUTE

3. % HIGHEST

1

4. % MAXIMUM

Question Number : 160 Question Id : 9983671080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

/T 7§ ¥ 7 ASHETe THld H TF 3 Gl 272
Options:

1. % SUBSTRACT

2. « MINUTE



3. % HIGHEST

4. % MAXIMUM

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

Discipline4

9
99836715
0

0
No
No
0
20
No
Yes
0

0

Discipline4

99836721
1

Online
Mandatory
20

20

20

1
99836753
Yes

Question Number : 161 Question Id : 9983671081 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Formulas in Microsoft Excel start with the character

Options:



Question Number : 161 Question Id : 9983671081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ASFATE TFAT H I, HFX H YF T ¢

Options:
1. = #
2 u &

Question Number : 162 Question 1d : 9983671082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

State whether the following statements are true or false.

(i) Microsoft Excel has two wild-card characters *** and *7°.
(i)  Microsoft Excel does not have any function for text processing.

Options:
1. «» (@ —True, (ii) —False

9 % (i) —False, (i) — True



3. % (1) —True, (ii) — True

4. = () —False, (i) — False

Question Number : 162 Question Id : 9983671082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaT & e Fy9 TEr § HyEr Teg)

(i) ATSHATS TFAT H & TSes-FIE T '+ 3T 2 g 2
(i) ASHTTE THFAT H TFEE T F BT FT wEr g g
Options:

1 o () - =&, (i) - T

Question Number : 163 Question Id : 9983671083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Which of the following statements is/are true?

(i) In Microsoft Excel 2016, charts fall under Insert tab.
(ii) In Microsoft Excel, absolute reference to a cell is made using $ symbol before the column letter and row
number E.g. $BS$3.
Options:
1. = Only (i) is true



? % Only (1) is true
3 Both (i) and (ii) are true

4. % Neither (i) nor (ii) is true

Question Number : 163 Question Id : 9983671083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

/T 7 ¥ 7 9 7 7 227

(i) AEFIEFE TFRS 2016 &, =M¢ SHC 3T F ’TeT B £
(i) ATSHETFE TS, H T & W IR Iod TEAT & g $ T FHT 39T FIF Tl H
TeHIeTE YWE AT A1ET € eg. $BS3

Options:

1. = Fael (i) WEr &

7. % e (i) TET &

3. » () 3 (i) @it wdr ¥

4, w () (i) TErE

Question Number : 164 Question Id : 9983671084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements related to Microsoft Excel is FALSE?
Options:
1. » Anarray formula performs operation on multiple values.



? . Theresult of an array formula is always a single value.

=SUM(LEN(A2:A11)) is an example of an array formula.

i
%

Many array formulas need to be entered using Ctrl + Shift + Enter.

e
%

Question Number : 164 Question Id : 9983671084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OEFOTe TFhd & T99 § e & ¥ 3T 729 9T 87

Options:

1 o T T GEEN 3E A RS F g

5 o W EO F IR TF THeT A e &

=SUM(LEN(A2:A11)) TY FTHe FI T& 3807 8l

W

4, =
Ctrl + Shift + Enter T 3731 T 3o W A Zo7 e $T ATITFAT 2 &

Question Number : 165 Question Id : 9983671085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

State whether the following statements are true or false.

(i) In Microsoft PowerPoint 2016, shape style formatting is done under Format tab.
(i) Design is NOT a menu tab in Microsoft PowerPoint 2016.

Options:

1. « (@ —True, (ii) —False



9 % (i) —False, (i) — True

3 % () —True, (i) — True

4. = () —False, (i) — False

Question Number : 165 Question Id : 9983671085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gaT & T Fya TEr § 33Uar gl

(i) FASHETE dlalcarse 2016 H, 9T W= FAET BHET &8 & 3d9a $r =T 2
(i) B=msw, AFHETe Teaxcase 2016 F He T FEl ¢

Options:

1 o () - =&, (i) - T

Question Number : 166 Question Id : 9983671086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full form of ALGOL?
Options:
1. » Algorithmic Library



B Algorithmic Language
3w Algorithm for All

4. % Algorithmic Linking

Question Number : 166 Question Id : 9983671086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ALGOL &1 I TH 7

Options:

1« UMREHE s

2 v TG HF oeas

3y USAEH BIX e

4« TG e

Question Number : 167 Question Id : 9983671087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full form of CLI?
Options:
1. » Command Line Input

? « Command Line Interface



3 Command Line Inquiry

4. % Code Line Interface

Question Number : 167 Question Id : 9983671087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CLI &r 31 aTF &1 87

Options:

1, » S A FAE

Question Number : 168 Question Id : 9983671088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NOR gate is an OR gate followed by a/an gate.
Options:
1. & AND

2 OR

&

3.« NOT



4. % XOR

Question Number : 168 Question Id : 9983671088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NOR ¥ T% OR 3 § fogs s & AT HTET 2
Options:

1. %= AND

2. = OR

3. ¢ NOT

4 % XOR

Question Number : 169 Question Id : 9983671089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a NAND gate. output will be low when input is
Options:
1, % 0.0

2. % 0.1

3, % L0

Question Number : 169 Question Id : 9983671089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



v& NAND 1T &, 313ee &H gF 91§ a9 2T 2

Options:

§ o WD
2. = 0.1
3.« 1,0
4, v 1.1

Question Number : 170 Question Id : 9983671090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many two inputs OR and AND gates will be required to implement F=AB+-CD-+E?

Options:

1. =

o
f—

(&
bJ

2.

(s
B
(]
LY}

Question Number : 170 Question Id : 9983671090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F=AB+CD+E &1F] &% & T frd=l a1 3a9¢ OR 3 AND dic H1aegs gier?

Options:



1 I R I
3. % 23
4. % 3.2

Question Number : 171 Question Id : 9983671091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the columns:

LIST-A LIST-B
(1) XOR (a)Y=A-B+ A.E
(IENOR (b)Y=A-B+A-B
(1i1) NOR ©)Y=A+B

Options:

1. % @@, @)~ (), i)~ (b)

7 D —(b), (iD) —(a), (ii)) - (¢)

3w (- (©). (i) - (), (i) - (v)

4. % @), (i) ), (i) - ()

Question Number : 171 Question 1d : 9983671091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FITAT &7 THeTT &L

T - A T - B
(i) XOR (@) Y=A-B+ AB
(i) XNOR (b) Y=A-B+A-B
(i) NOR (c) Y=A+B

Options:

1. = () - (@) (ii) - (c), (iii) - (b)

2. » () -(b), (i) - (a), (i) - (c)

3, = () - (c), (ii) - (a), (iii) - (b)

4, = (1) - (c), (i) - (b), (iii) - (a)

Question Number : 172 Question Id : 9983671092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full form of DHCP?
Options:
1. « Dynamic Host Configuration Protocol

2y Digital Host Configuration Protocol

3 » Dynamic Host Communication Protocol

4. » Digital Host Communication Protocol

Question Number : 172 Question Id : 9983671092 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

DHCP & U #TF &7 g7
Options:

1. » SHAAS g FlehaRed Felhiel

D« [Efoee g Fifewere Sewmre
5 SIS EE FFEYEER SR

A u Bfoee g s S

Question Number : 173 Question Id : 9983671093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an application layer protocol?
Options:
1. = RIP

i

7 % DHCP

3.« UDP

o

A. % BOOTP

Question Number : 173 Question Id : 9983671093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 O oiF v ofSasee 9uT i Jar 22

Options:



1. = RIP

2. » DHCP
3. « UDP
4 = BOOTP

Question Number : 174 Question Id : 9983671094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is FALSE?
Options:

1. # Ethernet address is stored on Network Interface Card.

2 Domain Name System is an application layer protocol.
3  TCP is a connection-less protocol.

4. » UDP does not use acknowledgement.

Question Number : 174 Question 1d : 9983671094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 ¥ FiF T Fua o 27

Options:

1 « ST UAT, ATF $EHH HE W FER 2T g




2« A AF fATeA v tadRe W Weehd gl

3. » TCP t&F FaFe gd SEe g

4« UDP TaAleatHee & 3TANRT FAg! Tl

Question Number : 175 Question 1d : 9983671095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

State whether the following statements is true or false.

(i) Address Resolution protocol converts an IP address into a physical address.
(ii) Physical Address is also called Ethernet Address.
Options:

1. » (@ —True, (ii) - False

2w (i) —False, (i) — True

3 o (@ —True, (ii) — True

4. » (i)—False, (i) — False

Question Number : 175 Question 1d : 9983671095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fae &F A Fus @ § 3 el
(i) w38 Refege= e IP 9a &1 Sfowe 99 & agedr gl
(i) TfaFe 9ar, Satae 9ar st sgarar 2

Options:

1. % () - 5@, (i) - o=




Question Number : 176 Question Id : 9983671096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a relational database table. a row 1s also called
Options:
1. = Attribute

2 « Tuple

3. # Instance

4 % Field

Question Number : 176 Question Id : 9983671096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v ol SEEd alfelehl H T 9ied T FErar g

Options:




Question Number : 177 Question Id : 9983671097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following SQL commands is used to delete a table from a database?
Options:
1. & Delete

7 o Drop

3 x Purge

4 % Truncate

Question Number : 177 Question Id : 9983671097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e § ¥ #i7 SQL FAEH Ry ¥ aifew Fes F v sy &Fv s e &2

Options:
1. = Bl
2 v ¥



Question Number : 178 Question Id : 9983671098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the columns:

LIST-A LIST-B

(1) INF (a) Atomic values

(i1) 2NF (b) Non-transitive dependency

(iii) 3NF (c) Full functional dependency
Options:

1. v @ —(@), (i) —(0), (iii) — (b)

2.« ) —(b), (i) —(a), (iii) — (¢)

3.« O —(c). (D) - (a), (i) — (b)

4 % @ -, G)- ), (i) - @

Question Number : 178 Question Id : 9983671098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTTAT FT THTT FL

o - A = - B

(i) 1NF (a) TTATT] AT

(i) 2NF (b) AA-TTered BT

(iii) 3NF (c) T BarerTer BUSH
Options:

1. » (@)= (@), (ii) - (c), (iii) - (b)



2. = (@) - (b), (i) - (a), (i) - (c)

3, = () - (c), (ii) - (a), (i) - (b)

4, = () - (c), (ii) - (b), (iii) - (a)

Question Number : 179 Question 1d : 9983671099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

State whether the following statements are true or false.

(1) Functional dependency is a constraint between two sets of attributes from a database.
(i)  Inadatabase table. there is always exactly one candidate key.

Options:
1. «» (@ —True, (ii) —False

9 (i) —False, (i) — True
3 u (@ —True, (ii) — True

4. » (i)—False, (i) — False

Question Number : 179 Question 1d : 9983671099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aaC & T FuF T § HY=ET el

(i) Fererer RIS, v eRE F vitcgew F o ¥eF & 9 vF HI AT
(i) sty aiferrr #, TeT Fae Tk FAST Fail (candidate key) g

Options:




1 o () - =&, (i) - T

Question Number : 180 Question Id : 9983671100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The first computer virus was called
Options:

1. « Creeper

2  Trojan Horse

3. & Worm

4. % Scooby Doo

Question Number : 180 Question Id : 9983671100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TUH FTIeT ATH el 7|

Options:

1. v AR
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Question Number : 181 Question Id : 9983671101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A total station is:
Options:



1. » @ combination of an electronic theodolite and digital level

2w anelectronic theodolite with leveling capabilities

3¢

a digital theodolite combined with an EDM (Electromagnetic Distance Measurement) module

A % acombination of an electronic theodolite and a tacheometer

Question Number : 181 Question Id : 9983671101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U e T 2

Options:

1. = Tk SolFal % [HaEeEe AT BT o9d #1 g3=a

Dy OETET STHAINHT dTel TH Solagiiae [Sdsense

3. ¥
v EDM - (fega Iw=sha gt #19+) Alsge & WY §g9a 0% f3faee fasemse

4« FoEClAE [GEERTEE IR THIART F TH FAET

Question Number : 182 Question Id : 9983671102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An application program in a total station, that can be used to locate the station occupied by the instrument by
observations to a minimum of two or three known points is known as:

Options:



1. # measurements

? « free station

3w forced station

4 % Stake out application

Question Number : 182 Question Id : 9983671102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U e TH H e Ufterhee W, 8 #gAaH & e 37 Aa gt g% Jefol gam, 39
aRT T WE W & O 3999 B ST §Far €, 9% Feond 8

Options:
1. &« #HAGT

3. x DIFS I

A, « TH BT Uicarersle

Question Number : 183 Question Id : 9983671103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The line joining the apex point of a triangle to some fixed point on its base is known as:
Options:

1. % Tie line



? % Baseline

3w Subsidiary line

4 « Check line

Question Number : 183 Question Id : 9983671103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v e F oY g 7 sw% a3mur W e fAfRae R @ e arelr @, sgerdr &

Options:

1. = & W@

2w AU @r

3. x TETH @

4. v T @I

Question Number : 184 Question Id : 9983671104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A smart station is:
Options:
1. = atotal station with software to calculate and display many quantities

2w atotal station with display units on both sides

3 . atotal station with an integrated GPS module



/. » atotal station attached to a computer

Question Number : 184 Question Id : 9983671104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF T TS B

Options:

1, =
T ered T, forEHE ae Ufrar Y e e § v e & T v BT B

2« U e T, FEH g AR A9 I6f T B 8

5, U e T, A whpd S A @ g

8 ia U eTe T, A FYE & 3T @ &

Question Number : 185 Question Id : 9983671105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The levelling of a total station and exact centering at a station is done by using;
Options:
1. « levelling foot screws and optical plummet

2w tripod legs and optical plummet
3 = optical plummet and circular bubble

4. » optical plummet and automatic compensator



Question Number : 185 Question Id : 9983671105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ue Ziee Teud FI sEfonT IR T W Hels HeNeT e & 39T EaRT HI Adr g

Options:

et BT TF AR T e (Hfewe oHe)

1. ¢

2y TEEIE AT AR HifCewer AT

T iftemd T AR THor T8

4. » Hifcews ToHe dR TTAoT FEaHeT

Question Number : 186 Question Id : 9983671106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In a total station survey work, the handling of the total station is of great importance. Identify an IMPROPER way of
handling of the total station.

Options:
1. » If wet. the total station should be wiped properly before placing in carrying case.

2. ®

For moving between stations. total station should not be transported fixing on the tripod stand.

3.v

After field work. total station should be placed directly in its carrying case. without release of locking mechanisms.

/. » Lifting total station from its carrying case by grasping the handle or standards.

Question Number : 186 Question Id : 9983671106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U Tied TA HAROT w1 #, eled BUF H FAE Hcded Hegccd Ul ¢, Tled T i HaTel &l
g ol Bfea

Options:

1. =

afE e &, See T F FET FH H WA ¥ Igd =0 aig 9 fEmr s anfge

2. %
TF ¥ gHL FAT A FHY TITe TAF F IPUIS TS O A G2 H Fel of AT A= A2

3. ¥
BeE FH F T1E, e TIUF H AT HFa=H o B e i svs S s F w &
el

4.« o FUAF H FHF HET FE F 3 AT T5F gk e v

Question Number : 187 Question Id : 9983671107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a total station the application program that enables the calculation of coordinates. azimuth between points and
distance between points is known as:

Options:
1. % Area

? & COGO

Stake out application

s
%

4. % compensator mechanism

Question Number : 187 Question Id : 9983671107 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Us ST TRF A UokI S S fademen, Rgat % & fere, sk Rgat & @ gl F aomer

HeTH S4TdT &, 98 Feddal &
Options:

1. » ©iar

5 TSN (COGO)

3« TIHh HI3T TCoThl

A x FEIFHT HhfA=H

Question Number : 188 Question Id : 9983671108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The most widely used technique for measurement of distance using EDMI (Electromagnetic distance measuring
instrument) is:

Options:
1. « phase shift method

? w Dpulsed laser system

3 automatic compensator mechanism

4. w» cooperated radar

Question Number : 188 Question Id : 9983671108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

EDMI (Rrega Ieashi gt AT 39e307) & 394197 gaRT GIAl & AT &g Hars JgFd aeels o

Options:




1. v %= Rwe fafer

2.« Tous o= HEA

i

™ LY b Y
3. = T hFdedel Hehlel=H

4. = FIHTNEE TR

Question Number : 189 Question Id : 9983671109 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A housing plot is in the form of a square ABCD with sides 20 m in length. The measured area of the plot ABCD from
the survey map is having an area of 400 cm?. The scale used for plotting the map is:

Options:

1. ¢ 1:10000
? % 1:1000
3. % 1:2000
4 % 1:100

Question Number : 189 Question Id : 9983671109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

U& HETED HEE TE T4 ABCD & &9 & ¢, 5@dr s=me 20 m w6 §) waor AT § s@s ABCD
=T AT &% 400 cm? ¥ TR e ¥ O 39T B SEer

Options:

1. « 1 : 10000



2 % 1:1000

3. = 1 : 2000

4. % 1:100

Question Number : 190 Question 1d : 9983671110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the function that could not be performed by the microprocessor in the control panel of a total station.
Options:
1. » Automatic target recognition

Reflectorless distance measurement

&

2

Automatic computation of coordinates of points, areas, offsets

b

3.

4. » Levelling of instrument

Question Number : 190 Question Id : 9983671110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

98 FI A, S ASHNIHE ORI aied T F Feid Yae H Al fehdT ST FehaT:

Options:

1. « TE=Ied &g Tg=rd

5 TECRIEd §Y A



3 = fRigaft, eiswall, TRl & RS Hr TE=nfaa T

4d. 3YFI0T S ST

Question Number : 191 Question Id : 9983671111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
F—3x

Find the solution of the inequality 4 1?” o + % where x EN?

Options:

1. « FL238 9 130
2 % (—o,13)
3, » (L,13)

4 » TLI3]

Question Number : 191 Question Id : 9983671111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
I1—2x S9—3x

HEAWRA = > 4 2 F g A B gk EN B

5 - 8

Options:

1. v 1.234.....,13}

5w (—9,13)

3 o (18



4 w» [LIE]

Question Number : 192 Question Id : 9983671112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Let P(n) = n® +n is odd, then P(n) = P(n+ 1)¥n. And P(1) is not true then which of the following is true?
Options:
1. » P(n)is true for alin

2 x P(m)istrueforalln >k
3 Pm)isfalseforalln €N

4 & P(m)istrueforalln € Z

Question Number : 192 Question Id : 9983671112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT F P =n?+nRem & F P =>P+1)VVn3iR P(l) T A g = F o aa oo &2

Options:

1 % P FEa nFRTaTR

2 « P FE n>k & T w7 &

3 » PMm) @®TT neN ¥ T 79d

4 « P @A neZ ¥ B0 @ &I

Question Number : 193 Question 1d : 9983671113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the equation of circle passing through the point (1, 1) and point of intersection of x* + y* = 6 and
> +yi—6x+8=0,

Options:

1. » x*+y>—6x+4=0

D ¢ X +y*—3x+1=0

3 x X*+y*—4y+2=0

4w X +y*—2x—2y+2=0

Question Number : 193 Question Id : 9983671113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rigat (1, 1) 3R x> +y° =6 3R x> +y° —6x+8=0 & wede g ¥ ToRT Ied F FHET 71
ey

Options:

1. = xP+y*—6x+4=0

2 ¢ X2+y*—3x+1=0

3 = 2 +y:—4y+2=0

4 = x*+y*—2x-2y+2=0

Question Number : 194 Question 1d : 9983671114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 3x* —3y® —18x + 12y + 2 = 0 represents a hyperbola. then find the equation of directrices.

Options:



3+ 5
= i il
1. @ 13
3+ 12
A= L=
=

2.
2+ 12
N — £l
3. % B
2+ 5
N — & ol
4. w 13

Question Number : 194 Question 1d : 9983671114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tfg 3x2 —3y?—18x+ 12y+ 2 = 0 U HAWaaT &1 ASNT Far &, a7 T3t &1 gHeu J91d

Exgl
Options:
3+ :
x =3+ [—
1. = =
3+ -
x: I
i
2. ¢
=2 -
S T



Question Number : 195 Question Id : 9983671115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If [——dx= %sec x —tan x + x + ¢ then find the value of A?

1+=in x

Options:
1. & —798

P % 798

3. o T98

4' 50

i’{
-]
w0
%]

Question Number : 195 Question Id : 9983671115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afy [ 5 dx=%secx—tanx+x+cﬁ'ﬂ\ﬂ?r+llri AT FHT

1+sin x

Options:

1. ® —798

798

A
g:‘

3. v 798



Question Number : 196 Question Id : 9983671116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about a worm is FALSE?
Options:
1. » It can spread from one computer to another without any human action.

7« Aworm cannot replicate itself.
3w Stuxnetis an example of a worm.

/. w» It can consume plenty of system memory or network bandwidth.

Question Number : 196 Question Id : 9983671116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

97 & I H @ T 7 ¥ 39 IO FI7 70T &7

Options:

Y » Tz ot A R & e v e @ g ¥ %A g ¢

3.« Stuxnet I1H FT TH 3EEIT ¢l

4« % T A F fFwes #A0 @1 dcas dsfosy H @ug W G g

Question Number : 197 Question Id : 9983671117 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
In Windows, what is the keyboard shortcut to open the task manager?

Options:
1. ® Ctrl+Esc

? # Ctrl + Alt +Esc

3. « Ctrl + Shift + Esc

4 % Shift+Esc

Question Number : 197 Question Id : 9983671117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 o0 &9 @ & T $191T arese #iF @1 2T 87

Options:

1. = Ctd + Esc

2 = Ctrl + Alt + Esc

3. « Ctrl + Shift + Esc

4. = Shift + Esc

Question Number : 198 Question Id : 9983671118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In Windows, what is the Keyboard shortcut to open the Run menu?
Options:
1. & Cul+R



? % Alt+R

3.« Windows + R

4 % Windows + Shiff +R

Question Number : 198 Question Id : 9983671118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= &, & 3 @ F Bw $E5 aewe FiT @1 g 82

Options:
1. « Ctl +R
2 % Alt+R

3« Windows + R

4. » Windows + Shift + R

Question Number : 199 Question Id : 9983671119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following keyboard shortcuts with their functions with respect to Windows 10.

LIST-A LIST-B

(1) Alt + Tab (a) Opens File Explorer

(1) Windows + M (b) Minimises all the windows

(111) Windows +E  (c) Switches between open programs

Options:

1 % ©- (@), @) - (), (i) - (b)



2w @ (), )~ (@), (i) - (©)

3. & O —(c): (i) —(a), (iii) — (b)

4. » @O—(). (D)~ ). (i) - ()
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T - A o - B
(i) Alt+Tab ( @) IS TFEART TieldT &

(i) f&=r=T+M ( b) = e feAEs =t &
(iii) FErs+E ( c) T AT & fr Taw war ¥

Options:

1. = () - (@) (ii) - (c), (iii) - (b)

2. = (@) - (b), (i) - (a), (i) - (c)

3, = () - (c), (ii) - (a), (i) - (b)

4, » ) -(c), (i) - (b), (i) - (a)

Question Number : 200 Question 1d : 9983671120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements regarding Google Drive is FALSE?

Options:



It is a cloud-based file storage service by Google.
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It provides limited free storage.
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It is integrated with Gmail.
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4.  Files stored on Google Drive cannot be shared.
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